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Chapter 1: The fundamentals of costing

1
A
A unit of product in relation to which costs are ascertained
D
A unit of service in relation to which costs are ascertained
The cost per sheet of paper used and the cost per unit of electricity consumed are examples of the cost of input resources, which might form part of the total cost of a cost unit but are not an actual cost unit.

2
A
Be constant in total when production volume changes

Fixed costs are constant (within a predefined range) regardless of production volumes.

Fixed costs are not constant per unit of output. This is the definition of variable costs. As output changes, total variable costs will vary in direct proportion to the level of activity.

Fixed costs are also not deemed to be constant per unit of output as production volumes change. Fixed costs are constant regardless of output levels and therefore as output levels increase they will represent a lower cost per unit of output.

Fixed costs should not vary substantially, in total, from period to period when production is constant. Fixed costs should be approximately constant.

3
A
Material costs
C
Labour costs

A supervisor would be concerned with material costs because he is responsible for the efficiency with which materials are used.

A supervisor would be concerned with labour costs because he is responsible for the efficiency with which labour work.

The decision to pay dividends would be for the board of directors and would not be of relevance to production.

The decision to take out a finance lease would have been made by the finance function and would not be of relevance to production.

4
D
A variable selling and distribution overhead

As the deliveries will only occur when a sale has been made it is therefore a selling and distribution overhead. The cost will be variable as will depend on the number of actual deliveries made in any period.

The selling and distribution is not a fixed cost per week as it will depend on the number of actual deliveries made in any period.

Variable prime cost is the name given to the total of all the direct production costs, not a cost incurred when distributing goods after they have been sold.

Fixed production overheads are the costs incurred in making goods which cannot be identified directly to the goods made by the company, and do not vary with output. They are not a cost incurred when distributing goods after they have been sold.

5
C
£206,952

	
	Shoe Type I
	Shoe Type II

	Units 
	
5,040
	
10,560

	Time (hrs)
	
(( 24 mins) = 2,016
	
(( 36 mins) = 6,336

	Rate
	
£8 per unit
	
£14 per unit

	Labour cost
	
5,040 ( £8 = £40,320
	
10,560 ( £14 = £147,840

	Non productive time (25%)
	
2,016 ( 0.25 = 504
	
6,336 ( 0.25 = 1,584

	Non productive cost @ £9/hr
	
504 ( £9 = £4,536
	
1,584 ( £9 = £14,256

	Total cost
	
£44,856
	
£162,096


Therefore the correct answer 
= Total cost of shoe type I + Total cost of shoe type II


= £44,856 + £162,096 = £206,952

If you answered £93,960 you simply calculated the total hours and valued them using the rate of £9 for non-productive hours.

If you answered £188,160 you did not add the payment for non-productive hours. 

The answer of £214,368 incorrectly costs non-productive time at £8 per hour for shoe type I and £14 per hour for shoe type II, rather than at the correct rate of £9.

6
B
A variable cost

A variable cost is wholly dependent on the level of activity.

A direct cost is affected by changes in the level of activity, but it may be semi-variable rather than variable.

An indirect cost may be fixed and/or variable and is not necessarily made up of just variable elements.

A semi-variable cost contains both fixed and variable components.

7
B
A fixed cost

This is a fixed cost, because the total amount paid each week does not vary with the amount produced during the week.

It is not a semi-variable cost as this would contain both a fixed element (the basic wage) and a variable element (for example, an output bonus).

It is not a variable cost as this would vary each week with the amount produced.

And finally it is not a step cost, because it does not remain constant for a given range of output, and then 'step up' to a new level, but instead is fixed each week.

8
D
A semi-variable cost

This cost has a constant element (£2,400) regardless of activity levels and a second element based on the number of hours it is used. It is therefore a semi-variable cost.

As the hiring cost does not remain fixed within certain activity levels and then change it is not a step cost.

Although the cost increases with output it is not zero at a nil output level, it is therefore not a variable cost. 

Finally, as the cost can be seen to increase with output it cannot be fixed.

9
A
G = 120 + 0.01T

A standing charge of £10 per month is £120 per year. Costs then increase by £0.01 per unit.

10
C
Management accounts are usually prepared for internal use by an organisation's managers. 

D
Financial accounts and management accounts are each prepared from the same basic data.

The management accounts provide information to managers within a business to help them to manage the business by making planning and control decisions. In contrast, the financial accounts are usually prepared for stakeholders external to the organisation.



The financial accounting and cost accounting records are prepared from the same basic data. Both systems record the same basic data for income and expenditure. However, each system has a different purpose and each therefore analyses the data in a different way.

The format of management accounts is not regulated by accounting standards. No strict rules govern the way the management accounts are prepared or presented: the format is entirely at manager's discretion.

It is incorrect to say that the use of cost accounting systems is restricted to manufacturing operations. Cost accounting information is also used in service industries, public sector bodies and not-for-profit organisations.

11
C
£5.00

Cost per unit
= Total cost / Number of patients treated


= £2.4m / 480,000 patients


= £5.00 per patient

If you answered £0.20 your calculation was upside down. The figure of £7.50 double counts the payments to doctors, which is already included in total costs. The answer of £2.50 was only the doctors' costs, which is understating the total cost.

12
A
£15,000

The fixed costs are those costs that remain unchanged irrespective of activity levels. The information given in the question regarding the activity levels is therefore irrelevant.

£48,000 is incorrect. You have calculated the total costs incurred at the given activity level, not the fixed costs.

£35,000 is incorrect. The fixed costs are those costs which are unaffected by changes in activity levels, which could be calculated by considering the total costs if both production and sales levels were 0.

£33,000 is incorrect. You have calculated the total variable cost incurred at the given activity level, not the fixed costs.

13
D
Cost per passenger kilometre

The most useful cost unit from those described is a passenger-kilometre. This is a composite cost unit which takes account of both the number of passengers carried by the airline and the distance travelled.

The cost per passenger carried is not as useful because it is affected by distance travelled. For example, it would not be possible to compare for control purposes the cost per passenger transported on a short haul journey of 500 kilometres with the cost per passenger transported on a long haul flight of 1,000 kilometres.

Similarly, the cost per kilometre travelled would be affected by the number of passengers transported. It would not be as useful as the cost per passenger-kilometre for control by comparison.

The cost per pilot hour would not be as useful as a cost per passenger-kilometre because it is distorted both by the number of passengers carried and the distance travelled.

14
D
Items (2) and (3) only 

It would be appropriate to use the cost per sales invoice processed and the cost per customer account for control purposes.

Purchase invoice processed, item (1), would be appropriate in an accounts payable department, but not accounts receivable.

15
C
M = £200 + (T/20) + (C ( 0.75 ( 0.1) + (C ( 0.25 ( 0.05)
DUP has 50 drivers and the fixed cost per month is £4 (£1 for itemised billing and £3 device rental). The total fixed cost is therefore 50 ( £4 = £200.

The variable costs comprises texts, off peak calls and peak calls. The cost of T texts at 5p each is T/20. There are C call minutes in total of which 25% are off peak charged at 5p per minute, the cost of these is therefore (C ( 0.25 ( 0.05). The remaining 75% are peak calls charged at 10p per minute, the cost of these is therefore (C ( 0.75 ( 0.1).

16
D
Direct expense

This expense can be traced in full to the cost object being costed (the job). Therefore it is a direct cost.

All of the other options are indirect expenses or production overheads, which cannot be traced in full to the cost object being costed.

17
C
A particular cost can be a direct cost of one cost object and an indirect cost of a different cost object.

For example the salary of the supervisor in department A is a direct cost of department A but an indirect cost of each unit produced in department A.

It is incorrect to state that total indirect costs are always greater than total direct costs. The relative amount of each type of cost incurred depends entirely on the nature of the organisation's operations.

An indirect cost is not always a fixed cost. For example the cost of electricity to heat a factory is a semi-variable cost which is an indirect cost of units produced in the factory.

Fixed costs per unit will reduce as the level of activity increases, since the same amount of absolute cost is spread amongst a greater number of units.

18
A
A salesperson

B
A factory warehouse
It is possible to ascertain the cost of these two cost objects.

The other three items are costs that might be attributed to a particular cost object, but they are not cost objects in themselves.

19
A,B
The other three are elements of cost.

20
C,D
A, B and E are cost objects.
21
B,D,E




Professional competence and due care, professional behaviour and integrity are fundamental ethical principles.

22
B
Self-interest


Participating in incentive compensation arrangements offered by an organisation is an example of a self-interest threat.

Chapter 2: Calculating unit costs (Part 1)

1
C
£61,250

Direct wages include only the ordinary time and basic rate of pay for overtime paid to direct labour.

Therefore, the cost of direct wages = £50,370 + £10,880 = £61,250

If you selected the answer of £72,130 then this is incorrect as it includes sick pay, which is an indirect labour cost.

If you selected £69,370 you have included overtime premium and shift allowances, which are usually treated as indirect costs. However, if overtime and shift work are incurred specifically for a particular cost unit, then they are classified as direct costs of that cost unit. There is no mention of such a situation here.

Finally, if you selected the answer of £50,370 you did not include the basic pay for overtime of direct workers. This is classified as a direct labour cost because it can be traced in full to a specific cost unit.

2
C
£168

The indirect labour costs are made up of idle time costs and overtime premiums.

Idle time costs
= 10 hours ( £12 per hour


= £120

Overtime premium
= ½ ( £12


= £6 per hour

Overtime premium for 8 hours
= £6 ( 8 hours


= £48

Therefore indirect labour costs
= £120 + £48


= £168

If you selected £48 you calculated the overtime premium correctly but did not add on the cost of the idle time payment – wages paid for idle time cannot be traced to a specific cost unit and are therefore a part of indirect labour cost.

If you selected £120 you classified the idle time payments correctly but did not add on the cost of the overtime premium. If the overtime had been worked for a specific cost unit then the premium could have been a direct labour cost of that unit, but this is not the case here.

If you selected £264 you included all of the overtime cost as an indirect labour cost. However, the basic pay for overtime hours can be traced to specific cost units and is therefore a direct labour cost.

3
D
Fixed costs per unit decrease as production levels increase.

The total fixed cost will remain the same at differing production levels and therefore the fixed cost per unit will reduce as output increases.

Total indirect costs are not always greater than total direct costs. The relative size of direct and indirect costs varies according to the type of output, the industry, the technology and so on. For example, in highly labour intensive industry the direct material and direct labour costs are likely to be large relative to the indirect costs.

A direct cost will often be a prime cost and is therefore not an overhead.

Variable costs will remain the same per unit at differing production levels.

4
D
Prime cost

As the royalty cost can be traced in full to units of the manufacturer's product it is a direct or prime cost.

5
D
£528,000

	
	 £      
	
	 £      

	Opening inventories
	 31,200
	 Returns
	 60,000

	Deliveries
	 600,000
	 Issue to production
	 528,000

	
	                
	 Closing inventory
	     43,200

	
	 631,200
	
	   631,200


6
B,D
First in, Last out (FILO) and future anticipated cost are not recognised methods of valuing inventory.

First in, First out (FIFO) and standard cost are recognised methods of valuing inventory.
7
D
£7,210

Widgets issued on 25 June = 90 from April receipts.

Opening inventory on 1 July is the same as the closing inventory on 30 June:

	
	 £      

	Remaining
210
Widgets from April @ £13.00
	 2,730

	 200
Widgets from May @ £12.50
	 2,500

	 150
Widgets from June @ £13.20
	 1,980

	 560
	 7,210


If you answered £1,070 you selected the cost of the issues rather than the value of the closing inventory.

The answers of £1,188 and £7,192 are the cost of the issues and the closing inventory on 30 June respectively, using the LIFO valuation method.

8
A
Archie

The LIFO method charges the latest prices paid to cost of sales. In a period of rising prices the latest prices will be the highest prices. Therefore the accountant using the LIFO method would record the highest cost of sales and the lowest gross profit.

9
B
£16,800

	
	
	 

	 

	 Value FIFO

	
	
	Units
	£/unit
	 £    

	Purchase
	 1/7
	 4,000
	 6.00
	 24,000

	
	 31/7
	  1,000
	 4.80
	     4,800

	
	
	 5,000
	
	 28,800

	Sales
	 15/8
	 (3,000)
	 6.00
	  (18,000)

	
	
	 2,000
	
	 10,800

	Purchase
	 28/8
	  1,500
	 6.00
	      9,000

	
	
	 3,500
	
	 19,800

	Sales
	 14/9
	    (500)
	 6.00
	    (3,000)

	
	
	  3,000
	
	   16,800


If you selected the wrong option then check your working carefully against the above table.

10
C
£18,000

	
	
	 

	 

	 
Value LIFO

	
	
	Units
	£/unit
	 £    

	Purchase
	 1/7
	 4,000
	 6.00
	 24,000

	
	 31/7
	  1,000
	 4.80
	     4,800

	
	
	 5,000
	
	 28,800

	Sales
	 15/8
	 (1,000)
	 4.80
	 (4,800)

	
	
	 (2,000)
	 6.00
	  (12,000)

	
	
	 2,000
	
	 12,000

	Purchase
	 28/8
	  1,500
	 6.00
	     9,000

	
	
	 3,500
	
	 21,000

	Sales
	 14/9
	    (500)
	 6.00
	    (3,000)

	
	
	  3,000
	
	   18,000


If you selected the wrong option then check your working carefully against the above table.

11
A
Each time an issue is made

Each time an issue is made the average price of remaining inventory items is not altered when an issue is made at the average price.

Each time a purchase is made it is likely to change the average price of the items held in inventory. If it is required to keep prices up to date, the average price must be 
re-calculated each time a purchase is made at a different price. Similarly, if an item is transferred into inventory from work in progress or from the factory floor it is likely to change the average price of the items held in inventory.

12
B
£2,561

	 
Date
	
 Received
	 
Issued
	
 Balance
	 
Total inventory value
	
 Unit cost

	
	
	
	
	 £     
	

	 1 June
	
	
	 100
	 1,200
	 12.00

	 3 June
	 300
	
	
	  3,456
	 11.52

	
	
	
	 400
	 4,656
	 11.64*

	 5 June
	
	 220
	 180
	 (2,561)
	 11.64

	
	
	
	
	 2,095
	 11.64

	 12 June
	 170
	
	
	  2,122
	 12.48

	
	
	
	 350
	 4,217
	 12.05*

	 24 June
	
	 300
	
	 (3,615)
	 12.05

	 Closing inventory
	
	
	 50
	 602
	 12.05


* A new weighted average price is calculated every time there are receipts into inventory.

From the above records, it can be seen that the cost of material issued on 5 June was £1,067.

If you selected £2,534 you used a unit rate of £11.52 ie, the price of the latest goods received, rather than the average price of £11.64.

If you selected £2,587 you used a simple average price of £11.76, rather than a weighted average price.

If you selected £2,640 you used a unit rate of £12 ie, the price of the oldest items in inventory.

13
B
£602

	
Date
	
 Received
	
 Issued
	
 Balance
	 Total inventory value
	
 Unit cost

	
	
	
	
	 £     
	

	1 June
	
	
	 100
	 1,200
	 12.00

	3 June
	 300
	
	
	  3,456
	 11.52

	
	
	
	 400
	 4,656
	 11.64*

	5 June
	
	 220
	 180
	 (2,561)
	 11.64

	
	
	
	
	 2,095
	 11.64

	12 June
	 170
	
	
	  2,122
	 12.48

	
	
	
	 350
	 4,217
	 12.05*

	24 June
	
	 300
	
	 (3,615)
	 12.05

	Closing inventory
	
	
	 50
	 602
	 12.05


* A new weighted average price is calculated every time there are receipts into inventory.

If you selected £595 you used a periodic weighted average cost of all inventory at the month end, instead of recalculating the average every time there are receipts into inventory.

If you selected £600 you calculated a simple average of all three available prices.

£624 would be the correct solution if the FIFO method of inventory valuation was used.

14
B
£420

	
	 £  
	 £    

	Sales value £1.50 ( 800
	
	 1,200

	Less cost of sales:
	
	

	 
400 ( £0.90
	 360
	

	 
400 ( £1.05
	 420
	

	
	
	   (780)

	Gross profit
	
	    420


If you selected £390 you have used a LIFO calculation.

If you selected £480 you priced all units at the first price of £0.90 for FIFO. However, you must deal with the separate batches of units, taking account of how many were received at each price.

£780 is the correct figure for cost of sales, but the question asked for the gross profit.


Chapter 3: Calculating unit costs (Part 2)

1
B
£24,400

The overheads of the canteen department are reapportioned on the basis of the number of staff working in the production departments only.

Reapportionment of canteen overheads

To assembly department
= (20/50) ( £11,000 = £4,400

Assembly department total overheads
= £20,000 + £4,400


= £24,400

If you answered £25,500 you incorrectly apportioned the canteen costs evenly to the two production cost centres. Since we know the number of staff in each cost centre, this is likely to be a more equitable apportionment basis as a cost centre with more staff would place a greater burden on the canteen facilities.

The answer of £24,000 incorrectly bases the apportionment of the canteen costs on all 55 employees. However, the canteen cannot give itself a charge and the correct apportionment basis is the 50 employees in the production cost centres only.

If you answered £4,400 you calculated the correct amount of canteen costs to be apportioned to assembly. However, you then forgot to add on the original budgeted overheads of £20,000.

2
C
£51,600

Number of employees in Finishing department 
= 12 direct + 4 indirect = 16

Number of employees in all production departments
= 30 direct + 12 indirect 


= 42

Finishing department overhead:

Canteen cost apportioned to Finishing department
= £20,160 ( 16 / 42


= £7,680

Original overhead allocated and apportioned
= £43,920
Total overhead after apportionment of canteen costs
= £51,600
If you selected £7,680 you forgot to include the original overhead allocated and apportioned to the Finishing department. 

If you selected £50,371 you included the 8 canteen employees in your calculation, but the question states that the basis for apportionment is the number of employees in each production cost centre.

If you selected £51,984 you based your calculation on the direct employees only.

3
A
Floor space occupied in square metres

From the four options available, a basis relating to floor occupied would seem to be most appropriate. This eliminates the number of employees and labour hours worked. Since rent is normally charged out on floor area, floor space occupied is more appropriate than the volume of space occupied.

4
B
£16.00

Total labour hours = (1,000 ( 8) + (2,000 ( 12) + (3,000 ( 6) = 50,000 hours

Overhead per labour hour = £100,000 / 50,000 = £2 per hour

Overhead content per unit of Product A = £2 ( 8 = £16

A fixed overhead cost of £16.67 per unit is incorrect because it is calculated by simply determining a single rate per unit for all 6,000 units produced. The absorption of overheads should be on the basis of labour hours.

If you selected £12.00 you calculated the correct rate of £2 per hour as described above. However, you then used the number of hours for Product C (6 hours) rather than on Product A.

If you selected £2.00 you calculated the correct absorption rate per labour hour. However, you should then have applied this rate to the number of labour hours per unit of Product A.

5
C
£7.20 per direct labour hour

Grinding appears to undertake primarily labour-based work, therefore a rate based on labour would be most appropriate. The rate based on labour cost is not the most appropriate as individual direct labour employees earn differing rates of pay, according to their skills, grade and experience. Overhead should represent activity and therefore a rate based on labour hours is most appropriate:

£43,200/6,000 = £7.20 per direct labour hour

A rate of 50% of direct material cost is not the most appropriate because the work is mainly labour based.

The rate based on machine hours is not the most appropriate because machine activity is relatively insignificant in the Grinding department, compared with labour activity.

6
B
£246.96

	
	 £

	Direct labour £12.60 ( 4 hours
	 50.40

	Direct expenses
	 128.40

	Total direct cost
	 178.80

	Overhead absorbed
	

	
£17.04 ( 4 hours
	   68.16

	Total production cost
	 246.96


The answer of £196.56 does not include a direct labour cost. The direct cost is not affected by the basis chosen for the absorption of overheads.

If you selected £218.64 you based the overhead absorption on the rate per finishing machine hour, rather than using the direct labour hour basis as requested.

The answer of £286.80 includes too much overhead cost. It uses both bases of absorption together, but only one basis of overhead absorption can be used.

7
C
Under-absorbed by £492

The overhead absorption rate is the 
budgeted overhead cost/budgeted hours
= £35,880/3,250


= £11.04 per hour

Absorbed overheads (3,175 hours ( £11.04)
= £35,052

Actual overheads
= £35,544

Under-absorbed overheads
= £492

The overhead is under-absorbed because the actual overhead expenditure exceeded the amount absorbed.

If you calculated the under- or over-absorption as £336 you simply determined the difference between the budgeted and actual overheads, but the value of overhead absorbed will depend on the actual level of activity achieved.

8
A
2,000

Actual overheads
= £550,120

Over-absorption
= £22,440

Absorbed overheads
= Actual overheads + over-absorbed overheads


= £550,120 + £22,440


= £572,560

If the absorbed overheads = £572,560 then the budgeted overhead absorption rate = absorbed overheads/actual labour hours = £572,560/2,105 = £272 per labour hour.

If budgeted overheads for the period were £544,000 and the budgeted overhead absorption rate is £272 per labour hour, then the budgeted labour hours = budgeted overheads/overhead absorption rate = £544,000/£272 = 2,000 hours.

If you selected 2,023 hours you calculated the correct absorption rate but then you divided this into the actual overhead cost. You should have divided it into the budgeted overhead cost.

If you selected 2,170 hours you subtracted the over-absorption to derive the absorbed overheads. However, if overheads are over-absorbed then the amount of overhead absorbed must be greater than the actual overhead incurred.
9
B
£2,175 over-absorbed


Overheads absorbed = OAR × actual activity level = £45.00 × 6,175 = £277,875
Actual overheads were £275,700 which is less than the amount absorbed. Overheads were therefore over-absorbed by £277,875 – £275,700 = £2,175
10
B
£55
(£12.00 × 4 hours) + (£14.00 × 0.5 hours) = £55.

11
D
Car
Car manufacturing is likely to use batch costing rather than process costing.

12
B
Within process costing, the cost per unit of output is found indirectly by dividing total costs by the number of units produced.

It is incorrect to state that the procedures used to calculate unit costs in manufacturing industries are not applicable to service industries. The procedures used to calculate unit costs in manufacturing industries can equally be applied to service industries.

It is incorrect to state that in process and job costing the cost per unit of output is found directly by accumulating costs for each unit. This applies only to job costing since it is not possible to identify individual units in a process costing environment.

It is incorrect to state that costing is irrelevant. Both financial accounts and cost accounts use the same basic data. However, the cost accounting analyses the data in a more detailed way and in a manner that is useful for management planning, decision making and control.

13
A
Work is undertaken to customers' special requirements.

Contract costing often applies to projects which are based on sites away from the contractor's premises.

Contract work is usually of a relatively long duration.

A continuous flow of operations applies to process costing rather than contract costing.

14
A
£2,400

Idle time is 5% of the hours to be paid for. Hours to be paid for are therefore 


= 190/0.95 = 200 hours. 

Therefore labour cost 
= 200 hours ( £12 = £2,400

The answer of £2,394 is derived by simply adding 5% to the active hours. However, the idle time is calculated as a percentage of the total hours paid for, not as a percentage of the active hours worked.

If you selected £2,280 you made no allowance for the extra payment for idle time.

The answer of 200 is the number of hours to be paid for. This needs to be evaluated at the hourly rate of £12. 


Chapter 4: Marginal costing and absorption costing

1
D
£161,976

	
	 £ per unit

	Variable materials
	 23.52

	Variable labour
	 20.88

	Variable production overheads
	   3.24

	Variable production cost per unit
	 47.64


Value of inventory in a marginal costing system 
= £47.64 ( 3,400 units


= £161,976

If you selected £327,216 you valued the inventory units at total cost. Selling and distribution overheads should not be included in inventory valuation and fixed production overheads should not be included in a marginal costing inventory valuation.

The value of £238,339 includes fixed production overheads. In a marginal costing system these overheads would be charged against the revenue as a period cost and would not be included in the inventory valuation.

If you selected £223,107 you included the variable selling and distribution overheads in the inventory valuation. The inventory should be valued at variable production cost.

2
A
Contribution: £63,000, Profit £13,000

	
	£

	Contribution 
= 1,400 ( £(100 – 55)
	 63,000

	Fixed cost
	 (50,000)

	Profit
	  13,000


The contribution figures of £90,000 relate to a sales volume of 1,000 wheelbarrows but this was the production volume.

The profit figure of £28,000 is the absorption costing profit for January using a sales volume of 1,400 wheelbarrows but the question asked for the marginal costing figure.

3
C
Fixed costs are treated as a period cost and are charged in full to the income statement of the accounting period in which they are incurred.


D
Marginal cost is the cost of a unit which would be avoided if that unit were not produced.
Contribution is calculated as sales revenue minus all variable costs (not plus all variable costs).
Closing inventories are valued at marginal production cost (and not full production cost).

4
A
£113,376

	
	 £  

	Gross profit (38,400 units ( £(10.00 – 3.54 – 1.04))
	 208,128

	Selling costs (38,400 units ( £2.50)
	 (96,000)

	
	 112,128

	Over-absorbed fixed production costs
	

	   (39,360 units produced – 38,160 budgeted) ( £1.04
	      1,248

	Absorption costing profit
	 113,376


If you answered £110,880 you deducted the over-absorption instead of adding it to the calculated profit. The option of £112,128 makes no allowance for the over-absorption and £112,378 is the marginal costing profit for the year.

5
C
Profits measured using absorption costing will be either lower or higher than profits measured using marginal costing.

Whether profits under absorption costing are the same as, lower than or higher than profits under marginal costing depends entirely on opening and closing inventory figures. For example, if there is no opening or closing inventory, then the two measures of profit will actually be the same.

If inventory levels increase, then profits under absorption costing will be higher than profits under marginal costing as more overhead is carried forward in the closing inventory valuation. The converse is true if inventory levels decrease.

6
D
£7,430 higher

Eve Ltd's production is budgeted to exceed sales and therefore under absorption costing the closing inventory of (2,500 – 2,200) units carried forward to the next period would include fixed production costs. These amount to:

(300 ( (£61,920/2,500)) = £7,430

Under marginal costing these fixed costs would be charged against the revenue for the period. Thus the absorption costing profit would be £7,430 higher. 

If you selected £34,934 higher or lower you calculated the profit difference as the total production cost of the 300 units in closing inventory. However, the difference in inventory valuation is caused by the differing treatment of the fixed costs only.

7
C
£255,000

Graudene's sales volume exceeded production volume by 2,000 units, therefore inventories reduced. The absorption costing profit will be lower than the marginal costing profit because fixed overheads were 'released' from inventory.

Profit difference 
= Inventory reduction in units ( Fixed overhead per unit


= 2,000 ( £10 = £20,000

Absorption costing profit
= £275,000 – £20,000


= £255,000

The answer of £240,000 is calculated as £10 profit per unit ( 24,000 units sold, however, this takes no account of the actual level of fixed overhead cost.

If you selected £245,000 you based your calculation of the profit difference on the closing inventory of 3,000 units rather than the reduction in inventory of 2,000 units.

If you selected £295,000 you calculated the correct profit difference but you added it to the marginal costing profit instead of subtracting it.

8
C
£3.60

Decrease in inventory levels
= 4,500 – 1,500


= 3,000 units

Difference in profits
= £126,100 – £115,300


= £10,800

Fixed overhead per unit
= £10,800/3,000


= £3.60 per unit

9
C
£181,920

Decrease in inventory levels
= 1,000 – 560 


= 440 units

Difference in profits
= 440 ( £12 fixed overhead per unit


= £5,280

Inventories decreased, therefore the absorption costing profit would be lower as overheads are 'released' from inventory.

Absorption costing profit
= £187,200 – £5,280


= £181,920

If you selected £175,200 you based your calculation of the profit difference using the opening inventory.

If you selected £180,480 you based your calculation of the profit difference using the closing inventory.

If you selected £192,480 you calculated the correct profit difference, but you added it, instead of subtracting it from the marginal costing profit.

10
A
Absorption costing profits will be lower and closing inventory valuations higher than those under marginal costing.

Closing inventory valuations are always higher with absorption costing because of the inclusion of fixed overhead. Therefore the statements that closing inventory valuations are lower are incorrect. 

If inventories decrease, absorption costing profits are lower because of the fixed overhead being released from inventory.

Chapter 5: Pricing calculations

1
A
£158.52

	
	 Erection
	 Finishing
	 Total

	
	 £ per unit
	 £ per unit
	 £ per unit

	Direct material
	 30.00
	 14.65
	 44.65

	Direct labour
	 30.00
	 7.60
	 37.60

	Production overhead
	 18.36
	 7.47
	    25.83

	Total production cost
	
	
	 108.08

	General overhead 10%
	
	
	    10.81

	Total cost
	
	
	 118.89

	Profit margin (( 25/75)
	
	
	    39.63

	Selling price
	
	
	 158.52


The option of £148.61 is the price derived using a 25% mark up on a cost, rather than a 25% margin on the selling price.

If you selected £145.91 you simply added 35% (25% + 10%) to the total production cost in order to determine the selling price. The two percentages should be added separately and the 25% margin should be determined as a percentage of the selling price, not as a percentage of cost.

If you selected £144.11 you did not add the general overhead to determine the total cost per unit.

2
B
£592.20

The machine set-up cost and design costs are fixed costs for each batch, which will not be affected by the number of cheques in the batch. The variable costs will increase in line with the number of cheques in each batch. 

For a batch of 3,000 cheques:

	
	 £  

	Variable materials (£72 ( 3)
	 216.00

	Variable wages (£24 ( 3)
	 72.00

	Machine set up 
	 7.20

	Design and artwork
	 36.00

	Production overhead (£72 ( 10%)
	     7.20

	Total production cost
	 338.40

	Selling, distribution and administration overhead (£338.40 ( 5%)
	   16.92

	Total cost
	 355.32

	Profit margin (£355.32 ( 40/60)
	 236.88

	Selling price for a batch of 3,000
	 592.20


If you selected £497.45 you calculated the cost correctly, but added a profit mark up of 40% of cost, instead of a margin of 40% of selling price.

If you selected £579.60 you failed to absorb any fixed overhead. 

If you selected £743.40 you treated all of the costs as variable costs, even though the machine set up and design costs are fixed regardless of batch size.
3
B
£18.99

Selling price 
= £29.75


= 117.5% of pre-tax price

∴ Selling price excluding tax
= 100/117.5 ( £29.75 


= £25.32
∴ New price after 25% reduction 
= (100% – 25%) ( £25.32


= £18.99

If you selected £18.41 you calculated the sales tax as 17.5% of the current selling price, but the price already includes the 17.5% tax which is based on the pre-tax price.

If you selected £22.31 you calculated the correct pre-tax price but then you added 17.5% sales tax, which was not required.

If you selected £25.32 you calculated the correct old pre-tax price but forgot to reduce the price by 25%.
4
B
The percentage price change in Year 3 was a 6.0% increase.

Selling price at end of Year 2 
= £19.99 ( 1.05 ( 1.10


= £23.09

Change in selling price in Year 3 is therefore £(24.49 – 23.09) 


= £1.40 (increase)

Percentage change in Year 3 was therefore (1.40/23.09) ( 100%


= +6.0%

If you calculated the Year 3 price change to be a 2.6% decrease you calculated the correct selling price as the end of Year 2 but then used an incorrect selling price at the end of Year 3 of £22.49 rather than £24.49.

If you selected a 6.5% increase you calculated the price at the end of Year 2 as being 15% of the initial price. You should have compounded the two increases at 10% and 5%, rather than simply adding them together.

If you calculated the Year 3 price change to be a 7% increase you calculated the correct absolute value of the price change. However, you then expressed this as a percentage of the original price, rather than as a percentage of the price at the beginning of Year 3.
5
B
£132.92

Cost + Mark up = Sales price

Assume cost = £100, then mark is £30 and sales price = £130

(100 + 30 = 130)

Actual selling price = £576

The profit (mark up) is therefore £576/130 ( 30

= £132.92

If you selected £172.80 you calculated the profit margin of 30% of the selling price. The mark up is expressed as a percentage of cost.

6
C
£483

	
	 £

	Selling price of repair
	 690

	Less profit mark up (25/125)
	 (138)

	Total cost of repair
	 552

	Less overhead
	   (69)

	Prime cost
	  483


If you selected £448 you deducted 25% from the selling price to derive the total cost of the job. 

£621 is the result of deducting the overhead from the selling price, but omitting to deduct the profit margin. 

£552 is the total cost of the job; you needed to deduct the overhead to derive the prime cost.
7
A
16.7%

Cost of goods sold
= Purchases + opening inventory – closing inventory


= £96,000 + £28,800 – £4,800


= £120,000

Profit for period 
= £144,000 – £120,000


= £24,000

Percentage margin
= (£24,000/£144,000) ( 100%


= 16.7%

If you selected 20.0% you calculated the percentage mark up on cost rather than the percentage margin on the selling price.

If you selected 33.3% or 50.0% you calculated the margin and the mark up respectively, using the purchases figure as the cost of goods sold, without adjusting for the change in inventory.

8
C
The revenue will decrease and the total contribution will increase.

Let the current selling price be £P and the current sales volume be V units.

Since the mark up is 25% of variable costs: 

Current variable cost per unit
= £0.8P

Current contribution per unit 
= £0.2P

Current revenue
= £VP

Current total contribution
= £0.2VP

After the change in pricing policy, the sales volume will be 0.8V and the revised selling price will be £1.2P. The variable cost per unit remains at £0.8P.

Revised revenue
= Volume sold ( revised selling price


= 0.8V ( £1.2P


= £0.96VP

Therefore the revenue will decrease.

Revised total contribution 
= 0.8V (£1.2P – £0.8P)


= £0.32VP

This is greater than £0.2VP therefore the total contribution will increase.

9
B
£16.00

Profit = Contribution – Fixed costs

Therefore contribution 
= £24,000 + £384,000 = £408,000

Revenue before increase ( 0.03
= £24,000

Revenue before increase
= £24,000/0.03 = £800,000

Note: the change in selling price of 3% has no impact on the fixed or variable costs, therefore the change in profit of £24,000 is caused by a change in revenue.

The variable costs are sales revenue less contribution, ie,


£800,000 – £408,000


= £392,000

Number of units sold 
= £392,000/(variable cost per unit = £7.84)


= 50,000

Current selling price per unit is therefore:


£800,000/50,000 = £16

If you selected £15.37 then instead of using the sales revenue less contribution as variable costs you made the mistake of using contribution as variable costs.

The option of £16.48 is the revised selling price, including the 3% increase.

If you selected £17.42 you deducted the profit from the fixed costs to determine the contribution, instead of adding it.

10
D
Only the buyer will bear the inflation risk.

The buyer will bear the inflation risk during the time that the contract is being completed, since the actual costs incurred are to be passed to the buyer, plus the profit mark up.

11
D
A percentage mark up with marginal cost plus pricing will always give a smaller profit than the same percentage mark up with full cost plus pricing.

A cost plus pricing method does not enable a company to ensure it makes a profit because it fails to recognise that sales volume may be insufficient to allow fixed costs to be covered.

A selling price in excess of full cost will not always ensure that an organisation will cover all of its costs. The full cost includes fixed costs per unit which have been derived based on estimated volumes. If this volume is not achieved then the actual fixed cost per unit will be higher and the selling price might be lower than the actual cost per unit.

A percentage mark up on costs (eg, 25%) will translate a cost of £100 into a selling price of £125. However, if the cost price is £100 and a return on sales of 25% is required then the selling price would be set at £100/0.25 = £133.33.

12
C
A £72,000 decrease

The company will be buying 5,000 units at £43.20 each from the external supplier, rather than making the units for £28.80 each in Rover Division. Profit will therefore fall by:

5,000 ( £(43.20 – 28.80) = £72,000

If you calculated a change in profit of £24,000 you calculated the difference of £4.80 between the transfer price of £48 and the external price of £43.20 and interpreted this as a saving for the company as a whole. However the transfer price of £48 is not an actual cost to the company. It is an external charge made for goods or services supplied between Rover and Morris divisions.

13
A
Should encourage goal-congruent decision making


B
Should encourage output at an organisation-wide profit-maximising level


E
Should enable the realistic measurement of divisional profit

An effective transfer pricing system should encourage goal-congruent decisions and should encourage output at an organisation-wide profit-maximising level. 

By providing the supplying division with a realistic profit and the receiving division with a realistic cost, it is possible to measure the divisional profit and to encourage output at an organisation-wide profit maximising level.

By acting in the self-interest of a division, decisions could be taken that are detrimental to the organisation as a whole. Similarly, by giving a division autonomous decision making powers then self-interest is more likely to prevail over the well being of the whole enterprise. 

14
C
Division X
£1,650 profit

Division Y
£450 profit

	
	 Division X
	 Division Y

	
	 £    
	 £
	 £   
	 £    

	External sales (200 ( £21)
	 4,200
	 (100 ( £30)
	
	 3,000

	Transfer sales (100 ( £(15 + 30%)
	  1,950
	
	
	         –

	
	 6,150
	
	
	 3,000

	Transfer costs
	
	
	 (1,950)
	

	Own costs (300 ( 15)
	 (4,500)
	 (100 ( £6)
	    (600)
	

	
	
	
	
	 (2,550)

	Profit
	  1,650
	
	
	     450


If you calculated a £1,050 profit for division Y you forgot to include the division's own costs in the calculation.

If you calculated a £2,400 profit for division Y you forgot to include the transfer cost in the division's total costs.

If you selected the profit of £2,325 for division X and a loss of £225 for division Y you calculated the transfer price as £26.25 (£21 + 25%) per unit instead of £19.50 (£15 + 25%) per unit.

15
B
£133.20

The total demand for HHO exceeds the capacity of Beta Division therefore internal transfers will displace external sales.

Optimum transfer price = external market price – cost savings with internal transfer

Cost savings with internal transfer
= 5% ( Total variable cost


= 5% ( (100/190 ( £136.80)


= £3.60

Optimum transfer price per unit
= £136.80 – £3.60


= £133.20

If you selected £130.55 per unit you calculated the cost savings on internal transfers as 5% of the total cost of £125, rather than as 5% of the total variable cost.

If you selected £136.12 per unit you calculated the variable costs as 10% of the selling price of £136.80. This misinterprets the meaning of the 90% mark up on marginal cost.

If you selected £136.80 per unit you simply opted for a transfer price equal to the external market price. However this makes no allowance for the cost savings which arise on internal transfers.

16
B
Gamma's profit would increase (paying £152 not £176). The company is paying £152 for a unit which costs £140 to make internally (fixed costs are fixed) so its profits fall.

Delta loses a contribution of £(176 – 140) = £36/unit so its profits fall. If you selected an increase in the company's profits then you forgot that fixed costs are fixed and the relevant cost per unit in Delta is £140 not £160.
17
D
Gamma's profits would increase as it pays less per unit for Y. For the company, it gains 
£(176 – 140) = £36/unit on an X and pays £(152 – 140) = £12/unit more on a Y so gains overall (fixed costs are fixed).

For every Y not sold internally, Delta would sell an equally profitable X externally, so there would be no change in its profits. If you thought the company profits would fall then you probably allowed for the extra cost of a Y but not the gain from an X.

18
D
To find variable costs per unit, 1.25VC = 20, VC = 16

Profit = £(20 – 16) 100,000 – 160,000 = £240,000

480,000 = TR – 1,600,000 – 160,000, so TR = £2,240,000

Unit price = £2,240,000/100,000 = £22.40 ie, 12% increase.

If you got 17% then you found VC by 0.75 ( £20 = £15.
If you got 20% you doubled contribution, not profit.
If you got 25% you had VC = £15 and doubled contribution.

Chapter 6: Budgeting

1
B
Identify the principal budget factor

D
Agree the anticipated sales volumes

The budget would involve both identifying the principal budget factor and also agreeing the anticipated sales volume.

Arranging working capital facilities may be necessary but is not normally a step in the preparation of a budget.

Agreeing the organisation's reporting structure is an important process but this is not normally part of a budget process.

2
B
Sales budget, Finished goods inventory budget, Production budget, then Materials usage budget

Sales would be the principal budget factor (as there are no production resource limitations) and so this is the first budget to be prepared. 

Inventory adjustments in the finished goods inventory budget indicate the production requirements for the production budget. Once the level of production is known, the materials usage budget can be prepared.
3
A
A budgeted balance sheet and a budgeted income statement prepared on the accruals basis
D
A cash budget

The master budget consists of a budgeted balance sheet, a budgeted income statement and a cash budget. 

Instructions for the preparation of the budgets will be contained in the budget manual. 

Key financial ratios are likely to be part of monthly management reports but are not part of a master budget.
4
D
3,627

	
	 £    

	 Budgeted sales
	 3,600

	 Add inventory increase (270 ( 10%)
	      27

	 Budgeted production
	 3,627


If you selected 3,357 units you calculated the correct budgeted production but then deducted the budgeted opening inventory.

If you selected 3,572 units you deducted the increase in inventory instead of adding it. 

The option of 3,600 units is the budgeted sales volume. This would only be the correct answer if there was no budgeted change in inventory.

5
A
£25,700

	
	 £    

	 Cost of sales (£52,000 ( 0.5)
	 26,000

	 Decrease in inventory (£3,000 ( 0.10)
	      (300)

	 Budgeted inventory purchases
	 25,700


If you selected £26,300 you added the reduction in inventory instead of subtracting it. A budgeted increase in inventory means that a higher level of purchases are required to satisfy the sales demand as well as leaving sufficient inventory for the forthcoming period.

If you selected £51,700 you did not deduct the profit margin from the sales revenue figure. This is incorrect because purchases are valued at cost.

If you selected £52,300 you did not deduct the profit margin from the sales revenue figure and then also you added the reduction in inventory instead of subtracting it.

6
D
20,200,000

	
	 Units

	Budgeted sales
	 18,000,000

	Budgeted increase in finished goods
	      180,000

	Budgeted production of completed units
	 18,180,000

	Allowance for defective units (10% of output = 1/9 of input)
	   2,020,000

	Production budget
	 20,200,000


If you selected 16,160,000 you deducted a 10% allowance for defective units, instead of adding it.

If you selected 18,180,0000 then this makes no allowance for defective units at all. 

If you selected 19,980,000 then you added 10% to the budget sales figure to allow for the defective units, but then 10% should be based on the total number of units output, as we are told that finished goods also have to pass the quality check.

7
C
£576,000

	
	£

	32% of opening receivables (£600,000 ( 32%)
	 192,000

	40% of June sales (£960,000 ( 40%)
	 384,000

	
	 576,000


Note that an adjustment does not have to be made for the settlement discount in this case as the question states that 60% of the sales will be settled, rather than that 60% of the gross invoice value will be received.
8
B
£44,880

	
	 Units
	£

	Highest output
	 2,616
	 46,896

	Less lowest output
	 1,680
	 41,280

	
	    936
	   5,616


Variable cost per unit = £5,616/936 = £6

Fixed cost at a production level of 2,616 units = £46,896 – (2,616 ( £6) = £31,200

(Note that the fixed cost will be the same if calculated at the lowest production level, but not if production levels other than the ones used in the calculation of variable cost are used.)

Total cost of producing 2,280 units:

	
	£

	Variable cost (2,280 ( £6)
	 13,680

	Fixed cost
	 31,200

	
	 44,880


When performing these calculations ensure that you base them on the highest and lowest production/output, and not the highest and lowest costs. This could lead to a different answer, as the highest and lowest outputs don't necessarily correspond to the highest and lowest costs.
9
D
Total fixed cost £72,960

Variable cost per unit £23.76

	Department 1 
	 Units
	
	 £    

	Total production overhead cost for
	 4,000
	 = 4,000 ( £14.40 =
	 57,600

	Total production overhead cost for
	 8,000
	 = 8,000 ( £10.08 =
	 80,640

	Increase
	 4,000
	
	 23,040


Variable overhead cost per unit 
= £23,040/4,000


= £5.76

Fixed overhead cost
= £57,600 – (4,000 ( £5.76)


= £34,560

	Department 2
	Units
	
	£    

	Total production overhead cost for
	4,000
	= 4,000 ( £9.60 =
	38,400

	Total production overhead cost for
	8,000
	= 8,000 ( £4.80 =
	38,400


The production overhead cost in department 2 is wholly fixed.

	Summary
	Total  fixed cost
	Variable cost  per unit

	
	 £    
	 £

	Variable materials
	
	 9.60

	Variable labour
	
	 8.40

	Production overhead – 1
	 34,560
	 5.76

	Production overhead – 2
	 38,400
	           

	
	 72,960
	 23.76


If you selected £34,560 and £23.76 you omitted the fixed cost for department 2. 

If you selected £34,560 and £18.00 you omitted the fixed cost for department 2 and ignored the variable cost element within the semi-variable production overhead in department 1.

The combination of £72,960 and £18.00 ignores the variable cost element within the semi-variable production overhead in department 1.

10
B
The value of one variable can be predicted or estimated from the value of one other variable.

The basis of linear regression relies on the fact that there is a linear relationship between the two variables. This allows one variable to be estimated from the value of the other.

11
A
Fixed costs are £280. Variable costs per unit are £36.

If W = 280 + 36L, then fixed costs are the constant, £280, and variable costs are £36 per unit.

12
B
0.77

The coefficient of determination, r2, measures the proportion of the total variation in the value of one variable that can be explained by variations in the value of the other variable.

r2 = 0.882 = 0.77

If you chose 0.44 you halved 0.88 rather than squared it.

If you selected 0.94 you calculated the square root of 0.88, rather than squaring it to derive the coefficient of determination. 

If you selected 1.76, you multiplied 0.88 by 2 instead of squaring it.
13
A
The process starts with sales, then progresses to production, materials usage and other functional budgets.

A 'top down' budgeting process is an imposed style of budgeting by management, setting out their targets for the forthcoming period. It is a type of master budget and will therefore contain an income statement, balance sheet and cash flow budget.

14
C
It includes past inefficiencies as cost levels are not scrutinised.

Incremental budgeting starts from a prior period's budget rather than starting from scratch (a feature of zero-based budgeting). By building up a budget in this incremental way then any past slack or inefficiency will again feature in the next period's budget.

15
B
A new accounting period, such as a month or a quarter, is added as each old one expires.


C
The budget is more realistic and certain as there is a short period between the preparation of budgets.
Statement A is a characteristic of zero-based budgets (where each item of expenditure has to be justified from scratch), not rolling budgets.

Statement D is the exact opposite of rolling budgets when a new accounting period, such as a month or a quarter, is added as each old one expires on a regular basis.

16
 C
(1) and (3) only

Big data is collected from diverse sources and much of this data is unstructured – so statement 2 is incorrect. 

Big data analytics is a recent development and enhances an organisation's ability to analyse and reveal insights in data which had previously been too difficult or costly to analyse – due to the volume and variability of the data involved. Statement 1 correctly identifies this point.

17
C
The use of loyalty card data could help with decisions on which games Gadget Ltd should stock.


D
Big data analytics can improve Gadget Ltd’s operational performance.

Unstructured data will be available to Gadget Ltd from its online forum, so option A is incorrect. Even though there is a lot of data available, appropriate analytics tools can make it easier to manage, so option B is also incorrect. Loyalty card data can help with product decisions as Gadget will be able to track which products sell well (option C).  Data analytics can also help with performance improvements (option D) if Gadget sets up systems to collect the data and analyse it.

18
B
Bramble Ltd appears to have misinterpreted the data that it received, and this relates to the veracity of that data. In summary:

Volume = the scale of the data that is available

Veracity = the uncertainty associated with the data

Variety = data being collected in different forms

Velocity = data coming in very quickly

Out of the above, it is the veracity of the data that Bramble used which has led to the wrong product decisions being made. Having large volumes of data, the different forms it comes in and the fact that it comes in very quickly would not make the data uncertain or potentially unreliable.
19
A
(2) only


Machine learning is when computer systems do not use pre-programmed rules to perform tasks. Instead, a machine learning system analyses data for patterns and derives algorithms on its own, which are further refined as more data is applied. 


Budget holders must have a basic knowledge of how their machine learning predictions are formed because there is always potential for anomalies, or events that machine learning cannot predict. 
20
B,D
Moving towards accountable teams avoiding hierarchical control is part of the 'organisation' principle.
Using adaptive management processes rather than the more rigid annual budget summarises all of the principles.

'Goals should be based on fixed, cascaded targets' is incorrect. The targets principle suggests targets should be ambitious, relative goals, avoiding fixed and cascaded targets. 
'Use traditional budgeting in conjunction with other techniques' is not mentioned in the 12 principles.
21
B
58

20X1 quarter 1: Q = 1

20X2 quarter 1: Q = 5

20X1 quarter 2: Q = 2

20X2 quarter 2: Q = 6

20X1 quarter 3: Q = 3

20X2 quarter 3: Q = 7

20X1 quarter 4: Q = 4

20X2 quarter 4: Q = 8

The trend for Q8 = 35 + (6 ( 8) = 83

Forecast = trend + seasonal component

Therefore forecast = 83 – 25 = 58

22
D
X = 50 and Y = 52
We know that (X + 48 + Y) / 3 = 50 and (48 + Y + 53) / 3 = 51.
Rearranging (48 + Y + 53) / 3 = 51 gives:
Y = (51 ( 3) – 48 – 53 = 52

Substitite Y = 52 into (X + 48 + Y) / 3 = 50 and rearrange to give:

X = (50 ( 3) – 48 – 52 = 50

23
B,C
The first statement is false because correlation does not prove a causal link.



Omitted variable bias is when a variable is excluded from the data model and therefore the cause of a change in one variable is incorrectly attributed to another variable in the model. Therefore the second statement is correct.



If there is a cause and effect relationship, there must be correlation and therefore the third statement is true.



Correlation may occur by pure chance and this is more likely to happen with a small set of data.

24
A
Anchoring



The manager has relied on the first percentage increase that they came across and this amount has anchored the decision.

25
D
The conclusion reached is flawed.



The data is representative of the population because it includes all of the usual production staff (ie, the whole population). The number of products produced is simple data to collect so no bias should have been introduced. The data is presented in a simple table and is therefore not misleading. 



The important point is that this is the first time that the employees have worked on the new product. There is every chance that they may become quicker in the future and that it will take less time. The conclusion that it will take 3.5 hours is therefore flawed.

Chapter 7: Working capital

1
D
A bad debt written off

E
Depreciation of a vehicle which has been operated for two years
Both of these items are non-cash items and should therefore be excluded.
2
D
£8,600 inflow

Depreciation and profits and losses on sales are accounting entries only. The only amount that will appear in the cash budget is the receipt of the £8,600 sale proceeds.

3
A
£820,650

Receipts for March:

	
	 £   

	50% ( March sales for cash (50% ( £516,000)
	 258,000

	Less 5% cash settlement discount
	 (12,900)

	80% ( February credit sales (50% ( 80% ( £1,393,200)
	 557,280

	15% ( January credit sales (50% ( 15% ( £243,600)
	   18,270

	
	 820,650


If you selected £833,550 you forgot that receivables who pay cash in the month of sale can claim a 5% cash settlement discount.

If you selected £1,425,432 you calculated the amount to be received from credit customers as 80% and 15% respectively of total sales, rather than of the credit sales.

The option of £1,438,332 combines both of the errors discussed.

4
A
£69,384

July cost of sales
= 70% ( £116,400
=
£81,480

Closing payables balance for July
= £81,480 ( 40%
=
£32,592

August cost of sales
= 70% ( £87,600
=
£61,320

Closing payables balance for August
= £61,320 ( 40%
=
 £24,528
Reduction in payables balance in August

=
£8,064

Cost of sales for August

=
 £61,320
Supplier payments in August
=
 £69,384
If you selected £53,256 you deducted the change in payables balance from the cost of sales. The reduction in the payables balance should have been added, since this means that higher payments were made to suppliers to reduce the balance owed.

The option of £61,320 is the cost of sales, which takes no account of the change in the payables balance. 

If you selected £64,776 you took the cost of sales to be 30% of the sales value, instead of 70%.

5
C
£977,760

	
	 £   

	Cost of sales = £1,248,000 ( 77%
	 960,960

	Increase in trade payables
	 (36,000)

	Increase in inventory
	   52,800

	Budgeted payment to trade payables
	 977,760


If you selected an incorrect option you did not deal correctly with the change in trade payables and inventory balances.

An increase in trade payables will reduce the amount paid to suppliers, since more credit is being taken. An increase in inventory will increase the amount paid to suppliers because required purchases will be higher.

6
D
£5.75 decrease

	Cash flow if factored:
	 £
	 £

	
95% of £95 received by debt factors
	
	 90.25

	Cash flow now:
	
	

	
60% of £100 received in 30 days
	 60.00
	

	
40% ( 90% of £100 received later
	 36.00
	

	
	
	 96.00

	Difference
	
	  (5.75)


If you selected £1 decrease you assumed the debt factor would pay 95% of the value of invoices. However, the question states that the factor will pay 95% of the value of invoices finally paid. Therefore an allowance must be made for the debt factor's 5% bad debts (£5 in every £100 invoiced).

7
B,D,E

In order to improve operational cashflows, a company needs to reduce the credit taken by customers, reduce the investment in inventory and increase the credit taken from suppliers.

8
A
£198,000

Gross profit = 10% sales and cost of sales = 90% sales

Annual cost of sales = 90% ( £2.64 million 

= £2,376,000

As there are no inventories, this is also the annual purchase cost, which is spread evenly over the year.

Thus one month's purchases = £2,376,000/12 

= £198,000

This is the value of one month's extra trade credit ie, the cash benefit to be derived from delaying payment by one month.

If you selected £200,000 you interpreted the 10% gross profit as a mark up on cost, rather than as a margin based on the sales revenue. The option of £220,000 is the sales revenue for one month. However, the cash saved in delayed payments to suppliers must be based on the cost of sales, after deducting the 10% margin.
9
D
Offer longer credit periods to customers in order to boost sales
E
Increase inventories to improve customer service
Both of these actions are short-term investments of surplus cash which can be reversed when the cash is needed elsewhere in the business.

Replacing or updating non-current assets and buying back shares are both actions that would only be appropriate if a long-term cash surplus was identified.

Delaying payments to suppliers would increase the cash surplus.

10
D
Increase in profit of £7,750

	
	
	 £    

	Current receivables
	 £1,200,000 ( 30/60
	 100,000

	New level of receivables
	 £1,200,000 ( 1.15 ( 45/360
	 172,500

	Increase in receivables
	
	   72,500

	
	
	

	Additional profit
	 £100,000 ( 15%
	 15,000

	Additional financing cost
	 £72,500 ( 10%
	    (7,250)

	Increase in profit
	
	     7,750


If you selected an increase in profit of £15,000 you did not take account of the financing cost of the extra receivables.

If you calculated an increase in profit of £10,000 you did not take account of the increased revenue when calculating the increase in receivables.

11
C
£23,100 decrease

(1)
Reduction in the financing cost of receivables

All customers will pay after 30 days instead of 60, reducing receivables by

30/360 ( £1,980,000
=
£165,000

Finance cost saved at 10% pa
=
£16,500

(2)
Discounts allowed

2% ( £1,980,000
=
 (£39,600)
Net cash decrease from discount policy:
=
 (£23,100)
If you selected a £16,500 increase you calculated the saving from the reduction in receivables correctly but did not then go on to account for the cost of the discounts.

12
C
£780,000
	
	
	 £   

	Inventories
	 60/360 ( 60% ( £7.2 million
	 720,000

	Receivables
	 30/360 ( £7.2 million
	    600,000

	
	
	 1,320,000

	Trade payables
	 45/360 ( 60% of £7.2 million
	   (540,000)

	
	
	    780,000


If you selected £900,000 you valued the trade payables and the inventories at sales value. However, as far as the company's working capital is concerned, their investment amounts to the cost value of these elements.

If you selected £660,000 you deducted the Receivables and added the Payables to the Inventories figure (ie, the wrong way round).

If you selected £1,860,000 you added all three figures together, but the availability of trade credit reduces the required investment in working capital.

13
C
15 weeks

	
	 Weeks

	Raw materials
	 6

	Payables
	 (8)

	Production
	 1

	Finished goods
	 6

	Receivables
	 10

	
	 15


If you selected 31 weeks you added the payables period instead of deducting it. However, the availability of credit from suppliers reduces the cash operating cycle.

14
B
185 days

	
	 Days

	Raw material inventory turnover (600/2,500 ( 365 days)
	 87.6

	Less payables: average payment period (380/2,500 ( 365)
	  (55.5)

	
	 32.1

	Production cycle (WIP turnover) (270/3,400 ( 365)
	 29.0

	Finished goods inventory turnover (440/3,400 ( 365)
	 47.2

	Debt collection period (820/3,900 ( 365)
	   76.7

	Full operating cycle
	 185.0


If you calculated the operating cycle to be 177 days you made the common mistake of basing the calculation for raw materials inventory and payables on the figure for cost of goods sold. If the purchases figure is not available then this might be acceptable but the use of the purchases figure is more accurate.

15
B
0.55

Quick ratio 
= current assets excluding inventories/current liabilities


= (101 + 13)/(126 + 80)


= 0.55

If you selected 0.42 you included the loan repayable in five years in the denominator. Since the ratio is concerned with short-term liquidity this long-term loan should have been excluded.

If you selected 1.35 you included non-current assets and the long-term loan in your calculation. Both should be excluded for the same reason as stated above.

If you selected 1.60 you included inventory and non-current assets in the numerator and the long-term loan in the denominator. This would have been the correct calculation for the current ratio, but not the quick ratio.

16
C
Current ratio will decrease; quick ratio will increase.

The current liabilities figures used as the denominator will stay the same in both cases. The total of the current assets will decrease because the reduction in the inventory value will be greater than the increase in cash. Therefore the current ratio will decrease.

The total of the liquid assets will increase because of the higher cash balance. Therefore the quick (liquidity) ratio will increase.

17
B
Cash operating cycle will decrease; quick ratio will increase.

The cash operating cycle will decrease because the inventory days decreases.

The denominator of the quick ratio will decrease because of the reduction in the overdraft. The numerator will either stay the same, or if the overdraft is cleared completely and there is a positive cash balance, the numerator will increase, Therefore the quick ratio will increase.

18
D
An optimal level of working capital for a business represent the business's trade-off between liquidity and profitability.

19
C
195,000/(5,400,000 ( 75%) ( 365 = 18 days.

20
A,D,E

Reduced terms of trade with suppliers would mean a reduction in the payables payment period, which would increase the cash operating cycle. Buying bulk inventory would increase the inventory holding period, which again would increase the cash operating cycle. 
21
D
A periodic review level system is one in which inventory levels are reviewed at fixed time intervals and variable quantities are ordered as appropriate. 

22
C
(1) and (3) only

Statement (1)
JIT requires close integration of raw material suppliers with the company's manufacturing process and particularly the use of small frequent deliveries of raw materials.

Statement (2)
To respond immediately to customer requirements, production must be flexible and in small batch sizes – large production batches run on an infrequent basis is the opposite of what JIT should provide.

Statement (3)
JIT systems attempt to reduce raw material stock levels through frequent deliveries just before the materials are required.

Statement (4)
This is the opposite of statement (3).
23
D
300,000/(5,400,000 ( 0.75 ( 0.65) ( 365 = 42 days 

24
C,E
Reducing the overdraft from cash resources will have no effect on the cash operating cycle, which is calculated with reference to non-cash working capital only. Granting a longer period of credit to customers will lengthen the cash operating cycle. 

25
C
459,000/(5,400,000 ( 80%) ( 365 = 39 days 

26
B
In an ABC system, inventory is categorised on some relevant basis to determine the extent of inventory control attention that is accorded to each item of inventory. 

27
C
(R / S) ( 365

Closing receivables days = closing receivables balance/sales ( 365 days

28
B
£432,000

Capital employed: £1,800,000/2.5
= £720,000

Non-current assets: £720,000 ( 70%
= £504,000

Working capital
= £720,000 – £504,000 = £216,000

Current assets (CA) – current liabilities (CL)
= £216,000

CA
= 2 ( CL

Therefore 2 ( CL – CL
= £216,000

Therefore CL
= £216,000

And CA
= £432,000

If you selected £1,008,000 you followed the correct methodology but started with the non‑current asset value of £504,000 as being the working capital balance.
29
A
(1), (2) and (3)

Some businesses deliberately pay their suppliers late in order to improve their own cash flow but this is considered to be unethical. 
Late payment to suppliers, particularly to small businesses, can have a severe impact on their cash flow, their ability to invest and grow and, in some cases, their ability to survive. Prompt payment is therefore essential for a prosperous economy, and it would be unethical to deliberately pay suppliers late.

In some countries, there is a legal obligation for businesses to report their payment practices and policies and, even when this is not the case, it is considered good practice to have transparent payment processes. 
Chapter 8: Performance management

1
C
Made available in a timely fashion

D
Sufficiently accurate for the purpose intended

Reports should be communicated to the manager who has responsibility and authority to act on the information. There is no point in distributing reports to the board of directors who cannot act on the information contained therein.

If reports contain as many as 20 pages of information then managers could suffer from information overload where they are supplied with so much information that their attention is not drawn clearly to that which is specifically relevant to them. Important information could be overlooked or simply ignored.

Finally, it is no good producing feedback reports on an annual basis – managers need regular and timely information upon which to act.

2
A
Reports should be completely accurate.

Management reports should be sufficiently accurate for the purpose intended. If reports try to be completely accurate then in all probability they would take so long to attain that the value of the information is diminished by its late arrival.

It is correct that reports should be clear and comprehensive and also that based on the information contained in reports, managers may decide to do nothing. Finally, although reports should distinguish between controllable and uncontrollable items it is correct to say that uncontrollable items could be included. Uncontrollable items might be included for information rather than for action.

3
C
A manager underestimates revenues when setting the budget to ensure that the budget target can be easily exceeded.

Budget bias is the manipulation of budgetary plans in a way which distorts the planning and control process. By deliberately underestimating revenues a manager will distort future monitoring of actual sales performance.

As long as the advertising budget is a realistic plan of the expenditure necessary to achieve the company's objectives, the disproportionate amount of expenditure is not an example of budget bias. The manager might perhaps be responsible for a new product or service and the company is budgeting to spend heavily on advertising to increase consumer awareness.

The other two examples also describe practices that would not introduce budget bias.

4
C
(3) only

Apportioned head office costs are not controllable by the manager of an investment centre.

Fixed costs would be within the manager's control as this is an investment centre.

The level of inventory in the division is a part of the capital invested in the division, which is usually controllable by the manager of an investment centre. The manager also has control over the revenue from sales within the organisation (transfer prices).

5
C
[C – F] – [(N + B – P) ( R]

The fixed costs are labeled as controllable therefore they should be deducted from the contribution but the head office charges should not. The divisional manager cannot exercise control over the latter costs and therefore should not be held responsible for them.

The divisional manager is responsible for the non-current assets, the payables balance and the bank balance. The divisional manager is not responsible for any inventories nor the receivables balance.

6
B
£184,320

Net profit
= 20% ( £230,400
= £46,080

Since return on investment 
= net profit/capital employed 
= 25%

Capital employed
= £46,080/0.25
= £184,320

The ratio of non current assets: working capital (net current assets) is 1:1

Net current assets
= ½ total capital = £184,320 / 2 = £92,160

Since current ratio is 3:2

Current assets
= £92,160 ( 3 = £276,480

Current liabilities
= £92,160 ( 2 = £184,320

If you selected £288,000 you switched the net profit margin and the return on investment.

If you selected £11,520 you incorrectly calculated the capital employed as £46,080 ( 25%.

7
D
The revised divisional ROI will be above 30% and the manager will not make a goal congruent decision.
	Revised profit
	 £m

	Current projection
	 5

	Profit on sale of Worcester site (£5m – £3m)
	 2

	
	 7

	
	

	Revised divisional investment
	 £m

	Current level
	 20

	Cash from sale of site
	 5

	Less book value of site
	  (3)

	
	 22


Revised ROI = (7/22) ( 100% = 31.8%

The manager would wish to undertake the transaction since the projected ROI of (5/20) 25% would otherwise not satisfy the target ROI of 30%. However this is not a goal congruent decision since the site would be sold for £1 million below its market value of £6 million.

8
C
16.6%

	
	 £     

	Original profits £720,000 ( 15%
	 108,000

	Profit on sale
	   14,000

	Revised profit
	 122,000

	
	

	
	 £      

	Original net asset value
	 720,000

	Less carrying amount of asset sold
	 (36,000)

	Plus cash received from sale of asset
	   50,000

	
	 734,000


Revised ROI after sale of asset 
= (£122,000/£734,000) ( 100%


= 16.6%

If you answered 14.7% you omitted to include the profit on sale of the asset in the numerator.

If you selected 17.8% you made the common error of omitting the cash received from the sale in the revised figure for the divisional investment.

9
C
ROI – no; RI – yes

ROI on additional investment
= 
[image: image1.wmf]£74,250

£495,000



= 15%

This is higher than the cost of capital therefore it would be acceptable to the group as a whole. However, the manager would reject the project based on ROI because it is lower than the current divisional ROI.

Incremental residual income (RI)
= £74,250 – (£495,000 ( 14%)


= £4,950

Therefore the manager would accept the project if performance was assessed on the basis of RI. This would be acting in the interest of the group as a whole.

10
C
Investments L and N

Investment L only
= 
[image: image2.wmf]£1,040,000  +  £435,000

£5,200,000  +  £1,300,000


= 22.7%

Investment N only
= 
[image: image3.wmf]£1,040,000  +  £760,000

£5,200,000  +  £3,035,000


= 21.9%

Investments L and N
= 
[image: image4.wmf]£1,040,000  +  £435,000  +  £760,000

£5,200,000  +  £1,300,000  +  £3,035,000


= 23.4%

Investment L, M and N
= 
[image: image5.wmf]£1,040,000  +  £435,000  +  £192,000  + 

 £760,000

£5,200,000  +  £1,300,000  +  £870,000  

+  £3,035,000


= 23.3%

11
B
The division residual income can be increased by investing in a project earning an annual return of 14%.

The annual return of 14% exceeds the imputed cost of capital of 12% therefore the residual income (RI) would increase.

Conversely, if a project which earns 14% is discontinued then the RI would decrease.

The ROI would decrease if the division invested in a project earning 14% because this is lower than the current ROI of 16%.

The ROI would decrease if the division discontinued a project which earns 17% because this is higher than the current ROI and thus the average ROI would decrease.

12
B
Customer

H&S, supplier and ethics perspectives are each not one of the four perspectives of the balanced scorecard. Aspects of each could be monitored, if appropriate, within the internal business perspective.

13
C
A flexible budget recognises sales and cost behaviour patterns and is designed to change as the volume of sales or production activity changes.

14
B
(1) and (2) only

A fixed budget may be useful for control purposes where activity levels are not prone to change, or where a significant proportion of costs is fixed, so that alterations in activity levels do not affect the costs incurred.

Fixed and variable costs must be separately identified so that the allowance for variable costs may be flexed according to the actual activity level.

Statement (3) is not correct. Budgetary control procedures can be used to monitor and control income as well as expenditure.

15
C
£785,000

	Variable material cost per 1% activity = £6,000
	

	Variable labour cost per 1% activity = £4,500
	

	
	
	

	Production overhead
	
	 £   

	At 


	 40% activity
	
	 108,000

	At


	 60% activity
	
	 134,000

	Change

	 20%
	
	   26,000


Variable cost per 1% change in activity is (£26,000/20) = £1,300

	Substituting in 60% activity
	
	

	
Variable cost = 60 ( £1,300
	 £78,000
	

	
Total cost
	 134,000
	

	Therefore fixed cost
	 £56,000
	


Other overhead is a wholly fixed cost.

	Budget flexed at 55% level of activity
	 £'000

	Variable material 55 ( £6,000
	 330.0

	Variable labour 55 ( £4,500
	 247.5

	Production overhead
	

	
Variable 55 ( £1,300
	 71.5

	
Fixed
	 56.0

	Other overhead
	   80.0

	
	 785.0


If you selected £705,000 you did not include a fixed cost allowance for the other overhead. The option of £806,000 ignores the fact that production overhead is a semi-variable cost and the option of £798,600 simply multiplies the total cost for 50% activity by a factor of 1.1. This make no allowance for the fact that there is an element of fixed costs within production overhead, and other overhead is wholly fixed.

16
B
£358,800

	Variable material cost per 1% activity = £3,000
	

	Variable labour cost per 1% activity = £1,000
	

	
	
	

	Production overhead
	
	 £   

	At 


	 60% activity
	
	 52,000

	At


	 80% activity
	
	 56,000

	Change

	 20%
	
	   4,000


Variable cost per 1% change in activity is (£4,000/20) = £200

	Substituting in 80% activity
	
	

	 
Variable cost = 80 ( £200
	 £16,000
	

	 
Total cost
	   56,000
	

	Therefore fixed cost
	 £40,000
	


Other overhead is a wholly fixed cost.

	Budget flexed at 64% level of activity:
	 £'000

	Variable material 64 ( £3,000
	 192.0

	Variable labour 64 ( £1,000
	 64.0

	Production overhead
	

	 
Variable 64 ( £200
	 12.8

	 
Fixed
	 40.0

	Other overhead
	   50.0

	
	 358.8


If you selected £308,800 you did not include a fixed cost allowance for the other overhead. 
The option of £361,467 ignores the fact that production overhead is a semi-variable cost and the option of £364,800 simply multiplies the total cost for 60% activity by a factor of 64/60. 
This makes no allowance for the fact that there is an element of fixed costs within production overhead, and other overhead is wholly fixed.

17
C
Imputed interest is £2,560,000 – £960,000 = £1,600,000. With interest at 10%, capital must be £16 million. ROI = £2,560,000/£16,000,000 = 16%.

If you got 6% you did RI/capital. If you got 10% you did interest/capital. If you got 22% you did profit + RI/capital.

18
A
Current ROI is 400/2,000 = 20%

Project ROI = 30/200 = 15%, so reject as overall result would fall below 20%.

Project RI = 30 – (0.14 ( 200) = 2, so accept.

Failing to evaluate the project separately eg, combining it with existing results would produce an ROI in excess of 14% and a positive RI which may have led you to say yes for both.
19
D
Current profit = 0.3 ( £1.2m = £360,000

Current plus K (highest ROI > 30%) ROI = (360 + 100)/(1,200 + 300) = 30.66%

All other projects have ROIs less than this so would reduce the average ROI.

20
C
To get a constant ROI both profits and capital should be constant. Reducing balance depreciation would increase profits over the life. Net book value would decrease the capital figure.

21
C
Collaboration between users is easier as files can shared via invitations rather than physically exchanging files therefore statement (1) is incorrect.

One of the advantages of cloud accounting is that updates to software are done by the cloud accounting provider, therefore statement (2) is correct.

There is no need to worry about whether PCs are powerful enough as the software is running in the cloud, not on the PC, therefore statement (3) is incorrect.

22
C
Option B is plausible but off-shoring can be to a division of the same company rather than to an outside provider. The question did not say this provider was in a different country (which would be the key characteristic of off-shoring).

By definition, outsourcing refers to a firm employing an external provider to carry out an activity that the firm had previously carried out internally.

Shared service centres typically involve a consolidation in the way services are provided within a firm, rather than transferring responsibility to an outside provider.
23
B,C
It is not true that cloud accounting systems generate more accurate information; they are still dependent upon accurate data input from accounts staff (option A). Accounting information is not automatically more secure (option D); clients of cloud accounting companies are reliant upon the data security processes of these providers, and must satisfy themselves that they are sufficiently robust. However, the fact that the information can be accessed and added to from anywhere does open up the opportunity for home working, and staff can access accounting information to get quick answers to questions (options B and C).

24
C
One of the chief benefits of operating a shared service centre is the fact that common functions can be centralised in one place, meaning that fewer staff may be needed.

25
B
While it is true that SSC staff work for all of the business units of a company, it does not automatically mean that they are overworked and cannot do their jobs properly (option A). Shared service centres can lead to reduced costs, due to reduced duplication of roles, but identifying and cutting costs is not their primary task (option C). Due to their removal from the actual site of business operations, it is true that they can be unaware of local business conditions – in this case, the business unit may need a higher staff training budget because conditions in the local labour market mean that staff turnover is high and the financial controller is not aware of this (option B). SSC staff should regard themselves as accountable to business units as they are their internal customers, particularly where there are SLAs in place, so option D is not correct.

26
D
This is cognitive bias because it relates to human perception and interpretation.

27
C
The employee satisfaction index relates to how satisfied employees are, and is therefore a social KPI. Revenue per employee is a measure of productivity. Employee utilisation rate reflects the percentage of work that can be billed to a client.

28
D
Physical risks arise from the physical effects of climate change. Transition risks relate to social and economic shifts to a lower-carbon economy, such as regulatory changes.

Chapter 9: Standard costing and variance analysis

1
D
Actual resource usage is different from planned resource usage.

All of the other options will not give rise to a variance. In particular, forecast prices are merely a prediction of what prices might be in the future. Once these forecasts are incorporated into budgets or standards, then they become formalised plans that the organisation will aim to achieve. Differences between the actual results and the budgets or standards will cause variances.

2
C
£120 (A)

	Budgeted labour cost for June =
	 £17,600

	Budgeted labour hours = (350 + 25 units) ( 4 =
	 1,500 hours

	Standard labour rate =
	 £11.73 per hour

	
	

	
	 £      

	1,000 hours should have cost (( £11.73)
	 11,730

	But did cost
	 11,850

	Labour rate variance
	      120 (A)


The option of £4,577 favourable is the labour total variance. The option of £4,577 adverse is the labour total variance and you also misinterpreted its direction.

If you selected £120 favourable you calculated the correct money value of the variance but you misinterpreted its direction.

3
D
£1,380 (F)

The standard labour rate per hour is £27,600/(2 ( [1,250 – 250]) = £13.80

	1,250 units should have taken (( 2) hours
	 2,500 hrs

	But did take
	 2,400 hrs

	Labour efficiency variance in hours
	 100 hrs (F)

	Labour efficiency variance (in £) = (Direct labour efficiency 
	

	    variance in hours ( standard rate per hour £13.80)
	 £1,380 (F)


If you selected £1,202 (F) you valued the labour efficiency in hours at the actual rate of £12.02 per hours instead of the standard rate.

If you selected £1,380 (A) you calculated the correct money value of the variance but you misinterpreted its direction.

If you selected £1,202 (A) you valued the labour efficiency in hours at the actual rate of £12.02 per hours instead of the standard rate and but you misinterpreted its direction.

4
B
£387 (F)

Standard variable overhead cost per unit 
= £7,488/1,248 units


= £6 per unit

	
	 £    

	Standard variable overhead cost for 1,344 units (( £6)
	 8,064

	Actual variable overhead cost
	 7,677

	
	    387 (F)


If you selected £387 (A) you calculated the correct money of the variance but you misinterpreted its direction.

The variance of £189 (A) is the difference between the standard cost for 1,248 units and the actual cost for 1,344 units. This is not a valid comparison for control purposes because of the different output volumes.

The variance of £189 (F) is the difference between the standard cost for 1,248 units and the actual cost for 1,344 units with you also misinterpreting the direction of the variance.

5
A
£39,200 (A)

	
	 £

	 Budgeted fixed overhead cost £18 ( 24,000
	 432,000

	 Actual fixed overhead cost
	 471,200

	 Fixed overhead expenditure variance
	   39,200 (A)


If you calculated the variance to be £47,200 you flexed the budget cost allowance for fixed overhead. By definition, the budgeted expenditure on fixed overhead does not alter when the activity level changes.

6
B
Fixed overhead variances

Budgeted contribution is different from actual contribution because of all of the sales and marginal cost variances which have arisen. Overheads and overhead variances do not feature when calculating contribution.
7
C
34,104 kg

Total standard cost of 33,840 kg
= £246,230

Standard cost per kg = £245,340/33,840
= £7.25 per kg

Usage variance in kg = £1,914/7.25
= 264 kg

33,840 kg were used. There was a favourable usage variance of 264 kg and so

(33,840 + 264) kg


= 34,104 should have been used.

If you selected 35,754 kg you added the money value of the usage variance to the actual quantity used. You were correct to deduct the variance, but you should first have converted it to a quantity of material.

33,840 kg is the actual material used, which cannot be the same as standard because there is a usage variance. 

If you selected 33,576 kg you deducted the usage variance from the actual usage, instead of adding it. The variance is favourable, therefore standard usage must be higher than actual usage.

8
A
9,524

The service in quarter 1 should have taken:
X   
hours
But did take:
 7,700
hours
Variance in hours
X – 7,700
hours (F)
X standard rate per hour
( £12.50
Variance in £
 £22,800
(F)

∴ 12.5 ( (X – 7,700) = 22,800

X – 7,700 = 22,800/12.5 = 1,824

X = 7,700 + 1,824 = 9,524

1,824 hours is the efficiency variance in terms of hours, and 7,700 is the actual number of hours worked. 

If you selected 5,876 hours you treated the efficiency variance as adverse instead of favourable.
9
C
The result of a manager's actions and decisions

Uncontrollable variances are variances which have arisen by chance and are random deviations. Controllable variances would not be random deviations but would be a result of a manager's actions and decisions.
The concept of planned variations does not sit with the definition of a controllable variance only.

Finally, marginal cost is the cost of producing one more unit of production and is not a controllable variance.
10
D
A discount offered by a materials supplier

A discount would reduce the cost of materials and create a favourable materials price variance.

Lower quality control standards should lead to fewer items being rejected but should have no impact on materials price variances.

A higher quality material might reduce wastage or scrap levels but would normally be more expensive and therefore create an adverse materials price variance.

Variations in output volume should not affect the price of materials.

11
B
Working fewer hours than the flexed labour hours budget predicts


C
The flexed budgeted hours for actual output is higher than the actual hours worked

As [variable overhead efficiency variance = (standard hours for actual output – actual hours) ( standard variable overhead rate per hour] then working fewer hours than standard will result in a favourable variance. Statement C is merely another way of saying this.

Material usage and fixed overhead will have no impact on the efficiency variance. Since the variance is evaluated at the standard rate per hour it will not be affected by the actual variable overhead cost per hour.

12
D
Higher hourly rates than standard and higher than standard labour hours for the actual production.

To be certain of an adverse labour total variance it would be necessary for both the labour rate variance and the labour efficiency variance to be adverse.

If labour hours are lower than budgeted it is possible that the total labour variance will be adverse, but not certain, regardless of whether the labour rates are above or below budget.

If labour rates are higher than budgeted but labour hours are below budget then it is possible that the total labour variance will be favourable.

13
A
20.1% (A)

Flexed budget 28,800 units ( £19.50
= £561,600

Actual cost
= £674,675

Variance
= £113,075 (A)

Percentage of budget 113,075/561,600 ( 100
= 20.1% (A)

If you calculated the variance as 14.4% of budget you were basing your calculations on the original budgeted labour cost for 30,240 units. However, since the actual output was only 28,800 units the control comparison should be made of the actual cost with the flexible budget cost allowance for 28,800 units.

14
A
£56,640

	
	 £    

	Actual expenditure on overheads
	 259,200

	Less budgeted variable overhead expenditure = actual expenditure 
   (£4.20 ( 52,800)
	 (221,760)

	Actual expenditure on fixed overheads
	 37,440

	Plus fixed overheads under budget
	    19,200

	Budgeted fixed overhead expenditure
	    56,640


If you selected £18,240 you adjusted for the fixed overheads under budget by subtracting them instead of adding them to the actual expenditure. 

If you selected £51,600 you adjusted for the variable overhead expenditure using the budgeted volume of 54,000 units rather than the actual volume of 52,800.

15
B
Sales volume variance
= £2,340 (F)

Sales price variance
= £6,000 (F)

	Budgeted sales volume
	 1,870 units

	Actual sales volume
	    2,000 units

	Sales volume variance in units
	 130 units (F)

	( standard contribution per unit
	    ( £18

	Sales volume variance
	 £2,340

	
	

	
	 £    

	Units should sell for (( £26)
	 52,000

	   But did sell for (2,000 ( £29)
	 58,000

	Sales price variance
	   6,000 (F)


If you calculated the sales volume variance to be £2,730 (F) you evaluated the volume variance in units at the actual contribution of £21 per unit instead of using the standard contribution per unit.

If you calculated £3,380 (F) as the sales volume variance you evaluated the volume variance in units at the standard selling price of £26 per unit instead of using the standard contribution per unit.

If you calculated £5,610 (F) as the sales price variance you based the calculation on the budgeted sales volume of 1,870 units instead of the actual sales volume of 2,000 units.

16
B
Sales volume variance
= £880 (A)

Sales price variance
= £2,180 (A)

	Budgeted sales volume (£96,000/£80)
	 1,200 units

	Actual sales volume
	 1,090 units

	Sales volume variance in units
	 110 units (A)

	( standard contribution per unit (£80 – £72)
	  ( £8

	Sales volume variance
	  £880 (A)

	
	

	
	 £    

	1,090 units should sell for (( £80)
	 87,200

	   But did sell for
	 85,020

	Sales price variance
	   2,180 (A)


If you calculated a sales volume variance of £825 (A) you evaluated the volume variance in units at the actual contribution of £7.50 per unit instead of using the standard contribution per unit.

If you calculated a sales volume variance of £8,800 (A) you evaluated the volume variance in units at the standard selling price of £80 per unit instead of using the standard contribution per unit.

If you selected £10,980 (A) as the sales price variance you simply subtracted the budgeted sales revenue from the actual sales revenue. This includes the difference in revenue caused by the change in sales volume.
17
A
It has been assumed that the adverse sales volume variance was the fault of the sales manager. However, it is likely that the cheaper materials purchased in June were of a lower quality than usual, leading to a drop in sales volume by August, as customers noticed the difference. The bias is therefore related to incorrect causality ie, omitted variable bias.
Chapter 10: Breakeven analysis and limiting factor analysis

1
D
Total fixed costs/number of units sold

Contribution required to break even is the same value as total fixed costs. Contribution per unit to break even is therefore total fixed costs/number of units sold.
The expression (unit selling price less unit variable cost) ( number of units sold is the total contribution.

Unit contribution ( number of units sold is also the total contribution.

Total fixed costs is the total contribution required to break even.
2
C
2,500 units

Breakeven point 
= Fixed costs/contribution per unit


= £125,000/(£105 – £55)


= 2,500 units

If you selected 1,190 units you divided the fixed cost by the selling price, but remember that the selling price also has to cover the variable cost. 

The option of 3,500 units is the margin of safety, and if you selected 2,273 units you seem to have divided the fixed cost by the variable cost per unit.

3
D
3,080

Breakeven point
Fixed costs/contribution ratio


= £184,320/0.30


= £614,400

Actual sales
= £737,600

Margin of safety
= £737,600 – £614,400


= £123,200

Margin of safety in units
= £123,200/£40


= 3,080 units

If you selected 15,360 units you calculated the breakeven point in units, but forgot to take the next step to calculate the margin of safety. 

18,440 is the actual sales in units and 123,200 is the margin of safety in terms of sales value.

4
B
£533,333

Total fixed costs
= £125,000 + £35,000


= £160,000

Contribution ratio
= 0.30

Breakeven sales revenue
= Fixed costs/contribution ratio


= £160,000/0.30


= £533,333

If you selected £416,667 you included only the fixed production cost in your breakeven calculation. However, all fixed costs must be covered by the contribution in order to break even.

If you selected £11,667 you included only the fixed selling cost in your breakeven calculation. However, all fixed costs must be covered by the contribution in order to break even.

5
C
£1,683,000

Margin of safety 
= 15% ( 165,000 units


= 24,750 units

Breakeven sales
= Budget sales – margin of safety


= (165,000 – 24,750) units


= 140,250 units

Breakeven sales volume
= Total fixed costs/contribution per unit

Therefore 140,250
= Total fixed costs/£12

Total fixed costs
= £140,250 ( £12


= £1,683,000

If you selected £1,980,000 you calculated the monthly profit, rather than the fixed costs. 

If you selected £2,277,000 you added the margin of safety to the budgeted sales to determine the breakeven sales volume. If the margin of safety is positive then the budgeted sales will always be higher than breakeven sales.

6
A
13,685 units

Sales units that will earn a required profit 


= (Fixed costs + Required profit)/Unit contribution


= (£198,125 + £144,000)/£25


= 13,685

If you selected 4,025 units you divided the target contribution by the selling price, but the variable costs must also be taken into account.

If you selected 7,925 units you calculated the breakeven point.

If you selected 5,760 units you divided the £144,000 target profit by the £25 contribution per unit, but the fixed costs must be covered before any profit can be earned.

7
A
£100,000

Contribution ratio
= 25% – 2%


= 23%

Sales required to earn target profit 
= (fixed costs + required profit)/contribution ratio


= (£10,150 + £12,850)/0.23


= £100,000

If you selected £44,130 you calculated the breakeven point and did not allow for the target profit.

If you selected £55,870 you divided the £12,850 target profit by the contribution ratio, but the fixed costs must be covered before any profit can be earned. 

If you selected £92,000 you based your calculations on a contribution ratio of 25% and did not allow for the other expenses which are 2% of sales.

8
B
36,242

Current profit 
= Total contribution – Fixed costs


= (38,000 ( [£28 – £12]) – £560,400


= £47,600

Required profit
= £47,600 ( 1.1


= £52,360

If the new production methods are implemented the required contribution will be:

Required contribution

= Revised fixed costs + Required profit


= (£560,400 ( 1.20) + £52,360


= £674,280 + £52,360


= £724,840

Required sales
= 
[image: image6.wmf]Contribution  required

Contribution  per unit (revised)



= £724,840/(£30 – £10)


= 36,242 units

If you selected 33,714 units you calculated the breakeven point with the revised fixed costs. The fixed costs must be added to the target profit.

If you selected 24,161 units you divided the required contribution by the selling price but this does not take account of the need to cover the variable costs.

If you selected 72,484 units you divided the required contribution by the unit variable cost rather than the unit contribution.
9
B
Fixed costs in total are not changed by increases or decreases in production volume.

C
Variable costs per unit are not changed by increases or decreases in production volume.

Fixed costs in total are not changed by increases or decreases in production volume (so that the profit-maximising and contribution-maximising output levels are the same).

10
C
Material and labour

	
	Quantity
	Quantity 
	Quantity 

	
	per unit
	required
	available

	Material (£88/22)
	4 kg (( 26,000)
	104,000 kg
	100,000 kg

	Labour (£18/9)
	2 hrs (( 26,000)
	52,000 hrs
	50,000 hrs


Sales demand is not a limiting factor because there is not sufficient material to satisfy the demand of 26,000 units.

There is sufficient labour or material to satisfy the demand of 26,000 units.

11
C
£11,000

Begin by calculating the contribution per unit of limiting factor.

	
	
	Priority ranking

	Left = £11.30/3
	= £3.77 per labour hour
	3

	Middle = £9.60/2
	= £4.80 per labour hour
	2

	Right = £10.20/2
	= £5.10 per labour hour
	1


	
	
	 Hours
	
	 Contribution

	Production
	 1st Right
	
	
	 £    

	priorities
	    (1,000 units ( 2 hours)
	 2,000
	 (1,000 ( £10.20)
	 10,200

	
	 2nd Middle
	
	
	

	
	    (1,000 units ( 2 hours)
	 2,000
	 (1,000 ( £9.60)
	 9,600

	
	 3rd Left
	
	
	

	
	    (200 ( 3 hours)
	    600
	 (200 ( £11.30)
	    2,260

	
	
	 4,600
	
	 22,060

	
	 Less fixed costs
	
	
	 (11,060)

	
	
	
	
	

	
	 Maximum profit achievable
	
	
	  11,000


If you selected £8,400 you allocated the available hours according to the contribution earned per unit of product. However, this does not take account of the limiting factor. 

If you selected £12,400 you allocated all the available hours to Right, the product which earns the highest contribution per hour. However, the maximum demand for Right is 1,000 units. Once that demand has been met the remainder of the available hours must be allocated in turn to the next products in the priority ranking.

£20,040 is the profit earned from satisfying the maximum demand for each product, but there are insufficient labour hours available to manufacture this volume of output. 

12
C
£3,724

	
	Product Julianhaab
	
	Product Nuuk

	Contribution per labour hour 
	= (£208 / 14)
	
	= (£266 / 19)

	
	= £14.96
	
	= £14.00

	Priority ranking
	1
	
	2

	Optimum allocation of hours
	33,600
	
	2,413

	
	(2,400 units)
	
	(127 units)


An additional 266 hours would be used to produce 14 units of Nuuk, earning a contribution of (14 ( £266) = £3,724.

If you selected £3,952 you allocated the hours to product Julianhaab but according to the ranking and maximum demand it is not possible to sell further units of Julianhaab.

If you selected £1,064 you allocated the available hours correctly but you then deducted the cost of the labour from your calculated contribution. However the cost of the labour has already been deducted when deriving the contribution per unit.

13
A
£1,143

Since product B does not feature in the optimum planned production this product must rank last in utilising the raw material. The optimum production with the additional 1,000 kg would therefore be to produce up to maximum demand for A. This will use 860 kg and leave 140 kg to make 70 units of B.

	
	 kg used
	 Contribution

	(1,900 – 1,728) = 172 units of A ( (£1.25 / £0.25)
	 860
	 (172 ( £4.50)
	 774

	70 units of B ( (£0.50 / £0.25)
	    140
	 (70 ( £1.70)
	    119

	
	 1,000
	
	 £893


However, the contribution is after charging £0.25 per kg for the raw material.

The maximum amount that should be paid is the contribution before the material cost 

= £893 + (1,000 ( £0.25) = £1,143

If you selected £893 you forgot to add back the £0.25 per kg already included for material.

If you selected £1,150 you assumed that the 1,000 kg would all be used on product A (an additional 200 units). However, the maximum demand for product A means only 172 units can be sold, with the remainder being used on product B.

If you selected £900, you again incorrectly allocated all the material to product A, and also forgot to add back the £0.25 per kg of material cost already included.

14
D
A: 100 units, B: 1,000 units, C: 200 units

	
	A
	B
	C

	Unit contribution
	£216
	£288
	£264

	kg required per unit
	4.8 kg
	2.4 kg
	7.2 kg

	Contribution per kg
	£45
	£120
	£36.67

	Ranking
	2
	1
	3


	
	 kg used

	Produce 200 units of C for contract (( 7.2 kg)
	 1,440

	Produce 200 units of B for contract (( 2.4 kg)
	    480

	
	 1,920

	Produce remaining (1,000 – 200) units of B (( 2.4 kg)
	 1,920

	Use balance to produce 100 units of A (( 4.8 kg)
	    480

	
	 4,320


If you decided not to produce any units of C you took no account of the requirement to produce the contract of 200 units of C.

If you decided not to produce any units of A you ranked the products on the basis of unit profit and took no account of the contract.

15
D
X: produce 5,200 units, buy in 4,700.

Y: produce 9,900 units.

The units subcontracted should be those which add least to the costs of Hartinger Ltd. The cheapest policy is to subcontract work which adds the least extra cost per machine hour saved.
	
	 X
	 Y

	
	 £
	 £

	Variable cost of internal manufacture
	 48
	 86

	Variable cost of buying
	 55
	 95

	Extra variable cost of buying
	 7
	 9

	
	
	

	Machine hours saved by buying
	3½ hours
	2 hours

	Extra cost of buying, per hour saved
	 £2
	 £4.5


It is cheaper to buy X than to buy Y. Therefore the priority for making the components in-house will be to allocate the available hours to the manufacture of Y.

	
	 Production
	 Hours per
	 Hours

	Component
	 units
	 unit
	 allocated

	X
	 5,200
	 3½ 
	 18,200

	Y
	 9,900
	 2
	 19,800

	
	
	
	 38,000


The remaining 4,700 units of X should be purchased from the sub-contractor.

16
C
P: manufacture 11,542 units; purchase 11,858 units.

Q: manufacture 31,200 units.

	
	 P
	 Q

	
	 £
	 £

	Variable cost of internal manufacture
	 17.00
	 25.50

	Variable cost of sub-contractor
	 27.50
	 54.30

	Extra variable cost of sub-contractor
	 10.50
	 28.80

	Material saved by buying form sub-contractor
	 7 kg
	 16 kg

	Extra variable cost per kg saved
	 £1.50
	 £1.80

	Priority ranking for internal manufacture
	 2nd
	 1st


	Production plan
	 Units
	 Material used (kg)

	Product Q
	31,200 (( 16 kg)
	 499,200

	Product P
	11,542 (( 7kg)
	   80,794

	
	
	 579,994


The remaining 11,858 units (23,400 – 11,542) of product P should be purchased from the sub-contractor.

Chapter 11: Investment appraisal techniques

1
A
PP is 2.02 years and ARR is 47.5%.

Depreciation must be added back to the annual profit figures to derive the annual cash flows.

Annual depreciation
= £(110,400 – 9,600)/4 years


= £25,200

Adding £25,200 to each year's profit figure produces the following cash flows.

	
	Cash
	Cumulative

	
	flow
	cash flow

	
	£    
	£    

	Initial investment
	(110,400)
	(110,400)

	Year 1
	64,800
	(45,600)

	Year 2
	44,800
	(800)

	Year 3
	47,600
	46,800


Payback period 
= 2 years + (800/(800 + 46,800) ( 1 year)


= 2.02 years

If you selected a payback period of 3.89 years you based your calculations on the accounting profits after the deduction of depreciation. The calculation of the payback period should be based on cash flows.

ARR

Average profit
= £(39,600 + 19,600 + 22,400 + 32,400)/4


= £28,500

Average investment
= £(110,400 + 9,600)/2


= £60,000

ARR
= £(28,500/60,000) ( 100%


= 47.5%

If you selected an ARR of 25.8% you calculated the ARR using the opening investment rather than the average investment.

2
D
DPP is 2.36 years and NPV is £6,000.

NPV

	
	
	 Discount
	 Present

	Year
	 Cash flow
	 factor
	 value

	
	 £     
	 15%
	 £     

	0
	 (12,000)
	 1.000
	 (12,000)

	1
	 (4,800)
	 0.870
	 (4,176)

	2
	 16,800
	 0.756
	 12,701

	3
	 14,400
	 0.658
	    9,475

	NPV
	
	    6,000


If you selected an NPV of £4,440 you treated the £12,000 cash flow as occurring in Year 1 and discounted it. Cash flows occurring 'now' should not be discounted.

	
	 Present
	 

	
Year
	 value (PV)
	Cumulative 
PV

	
	 £     
	 £     

	0
	 (12,000)
	 (12,000)

	1
	 (4,176)
	 (16,176)

	2
	 12,701
	 (3,475)

	3
	 9,475
	 6,000


DPP 
= 2 years + (3,475 /(3,475 + 6,000) ( 1 year)


= 2.36 years

If you selected 2.0 years you calculated the non-discounted payback period.

3
C
£14,386

Using cumulative present value tables we require the 20% factor for Years 3–10:

	Cumulative discount factor for Years 1–10 at 10%
	 4.192 

	Less cumulative discount factor for Years 1–2 at 10%
	 (1.528)

	Cumulative discount factor for Years 3–10 at 10%
	 2.664


Present value
= £5,400 ( 2.664


= £14,386

If you selected £11,264 you made the common mistake of deriving the cumulative discount factor for Years 4 to 10 instead of Years 3 to 10.

If you selected £18,322 or £14,774 then you used cumulative discount factors for 15% rather than 20% over 3 to 10 and 4 to 10 respectively.

4
B
£104,240

Using discount tables, the cumulative factor for Years 1 to 4 at a discount rate of 10% is 3.170. The present value of the four equal payments is £63,590.

Therefore each payment = £63,590/3.170 = £20,060

The total amount to be paid during the lease period is therefore:

£24,000 + (4 ( £20,060) = £104,240
If you selected £112,258 you made the common mistake of discounting each year's payment by the factor for the year in which the payment is made even though the payments are made at the beginning of each year. The cash flow at the beginning of Year 2 should be discounted using the factor for Year 1 and so on. If you selected £87,590 you simply added the initial payment to the discounted value of the four other payments.

5
B
16.6%

The IRR can be calculated using the following formula:

If 
a = 10%


b = 20%


A = £42,000


B = (£22,000)

Then:

IRR 
= a% + [ A / (A – B)] ( (b – a)%


= 10% + 6.6%


= 16.6%

If you selected 31.0% you did not account correctly for the fact that the NPV was negative at a discount rate of 20%. You treated the £22,000 NPV as a positive figure in the calculation.

If you selected 13.4% you swapped A and B around in the formula, using A = £22,000 and B = £42,000.

If you selected 15.0% you have simply calculated the mid-point of the two rates instead of using the IRR formula.
6
B
£60,364

Discount factors (DCF) of 18% are not shown on the tables therefore it is necessary to calculate the factors yourself.

	Year
	Cash flow
	
	DCF
	Present value

	
	 £    
	
	
	 £     

	0
	(384,000)
	 1
	1.000
	 (384,000)

	1
	76,080
	 ( 1/1.18
	0.847
	 64,440

	2
	429,600
	 ( 1/(1.18)2
	0.718
	 308,453

	3
	117,360
	 ( 1/(1.18) 3
	 0.609
	   71,472

	NPV
	
	
	
	 £60,364


If you selected £1,612 you discounted the initial investment but since this occurs at the beginning of the project it should not be discounted.

If you selected £(7,420) you discounted each year's cash flow by the factor for cash flows in the following year.

7
D
It is useful as an initial screening device.

The payback method is a simple initial screening technique.

Its disadvantages include the fact that it does not take into account inflows beyond the payback period and also that it does not quantify the effect of the timing of cash flows through the investment. Investment risk is reduced if the payback period is shorter not longer.

8
C
It involves a familiar concept of a percentage return.

D
It takes account of returns over the entire project life.

Both of these factors are advantages of the ARR method of investment appraisal.

Accounting profits are not objective. They are subject to a number of different accounting policies. The calculation method of ARR can be based either on the initial investment or on the average investment. The basis is not universally agreed and this can make it difficult for managers to interpret calculated ARRs.

9
B
IRR is technically superior to NPV and easier to calculate.

NPV is technically superior to IRR and easier to calculate.

The other statements are true. Variable discount rates can be incorporated easily into NPV calculations, but not into IRR calculations. The two methods do give the same accept or reject decision when the cash flows are conventional. Finally, although it is unlikely that the NPV and ARR will be confused there is a possibility that the ARR can be confused with IRR because both measures are expressed in percentage terms.

10
B
£483,937

We need to calculate the terminal value of the project.

	Year
	Cash flow
	15% factor
	Present value

	
	 £ 
	
	 £

	0
	(384,000)
	1.000
	 (384,000)

	2
	24,000
	0.756
	   18,144

	
	
	
	 365,856


This is the present value of the cash flows without any revenue from the contract. The minimum acceptable contract price is the terminal value (X) at the end of Year 2. 

X ( 15% discount factor for Year 2 
= Present value

Therefore, X 
= £365,856/0.756


= £483,937

If you selected £507,937 you forgot that the working capital is to be released at the end of the two years.

If you selected £365,856 you calculated the correct present value of the cash flows but did not allow for the fact that the contract revenue was to be received at the end of Year 2.

11
D
£107,686

Present value of replacement cost in three years' time, at a discount rate of 10%:


= £500,000 ( 0.751


= £375,500

If the annual amount to be invested is X, then the present value of the investments will be:

(X ( 1) + (X ( 0.909) + (X ( 0.826) + (X ( 0.751) = X ( (1 + 2.487)

Therefore: 

Annual investment required, X
= £375,500/3.487

= £107,686

If you selected £118,454 you did not take account of the fact that the first amount will be invested immediately and thus should not be discounted.

12
B
£50,000

Present value of initial investment
= £150,000 

Present value of perpetuity stream beginning in one year
= 
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= £10,000/0.05


= £200,000

NPV of investment 
= £200,000 – £150,000


= £50,000

If you selected £40,476 you made the mistake assuming that the first £10,000 was received a year later than is the case.
13
A
20%

Net initial investment 
= £732,000 

The IRR is the interest rate at which the NPV of the investment is zero.

PV of perpetuity
= £146,400/r

The IRR is where £146,400/r
= £732,000

IRR
= £146,400 / £732,000 ( 100% = 20%

If you selected 25% you in fact assumed that the first inflow is coterminous with the initial investment.

If you selected 500% you calculated the £732,000 net investment correctly but your final calculation was 'upside-down'.

If you selected 400% you made both of these errors.

14
B
15%

The IRR is the discount rate that results in a zero NPV in the following calculation.

	
	
	 Discount
	 Present

	Year
	 Cash flow
	 factor
	 value

	
	 £  
	
	£

	0
	(330,000)
	 1.000
	 (330,000)

	1–7
	80,000
	 ?
	  330,000

	NPV 
	
	
	              0


Discount factors for Year 1 to 7 
= 330,000/80,000


= 4.125

Using the annuity table the nearest factor to 4.125 for Years 1 to 7 is at 15% (actual factor is 4.16).

15
B
7.9 years

The discounted payback period is calculated as follows:

	
	
	
	
	Cumulative 

	
	
	
	Discounted
	discounted

	Year
	Cashflow
	DCF
	cashflow
	cashflow

	
	£     
	
	£     
	£     

	0
	(960,000)
	1
	(960,000)
	(960,000)

	1
	168,000
	0.909
	152,712
	(807,288)

	2
	168,000
	0.826
	138,768
	(668,520)

	3
	168,000
	0.751
	126,168
	(542,352)

	4
	168,000
	0.683
	114,744
	(427,608)

	5
	168,000
	0.621
	104,328
	(323,280)

	6
	218,000
	0.564
	122,952
	(200,328)

	7
	218,000
	0.513
	111,834
	(88,494)

	8
	218,000
	0.467
	101,806
	13,312


Cash flows after Year 8 can be ignored as the cumulative discounted cash flow is positive.

This means the discounted payback period is:

7 + £88,494 / (£88,494 + 13,312) years 

= 7.9 years

If you selected 8.9 you had the cash flows all occurring one year later than is correct.

16
B
The false statement is 'if the internal rate of return is less than the cost of capital, then the project has a positive NPV at the cost of capital'.

If the internal rate of return is less than the cost of capital, the NPV at the cost of capital would be negative for a project with outflows followed by inflows.

17
C
The false statement is 'both methods are based on the project's cash flows'.

The ARR method of appraisal is based on accounting profits, not cash flows.

18
D
Reject both projects.

The NPV profiles can be sketched as follows.

[image: image8.wmf]
At a discount rate of 20% both projects have a negative NPV and should be rejected.

19
A
The sum of the cash flows of project Q is £50,000.

D
Both projects earn the same NPV at a discount rate of 30%.

The NPV at 0% is the sum of the cash flows of a project. Therefore the sum of the cash flows of project Q is £50,000.

At a discount rate of 15% project P has a negative NPV. Therefore only project Q is acceptable at a discount rate of 15%.

Project Q crosses the horizontal axis only once. Therefore it has only one IRR.

The two projects earn the same NPV at the point where the lines intersect, which is at a discount rate of 30%.

20
B
Imagine there are no cash flows beyond Year 4 ie, outflow equals inflows exactly. The NPV at 15% would be negative so D is ruled out. The IRR would be 0% so C is out. If cash flows occur beyond Year 4 there is no reason why the NPV could not be positive, so A is out.

21
A
Both are normal projects so statement 1 is false. As they are normal projects there will be no conflict between the NPV and IRR methods so 2 is also false. However, the methods may rank the projects in a different order so 3 is true.
22
C
Rate at which both NPVs are equal is between the IRRs and 16% (at which Y's NPV is greater). Only C shows this.

23
A
Neither the IRR nor the payback period involve the cost of capital in their calculation.

24
B
The IRR does not use the cost of capital in its calculation. If the cost of capital increases the present value of inflows decreases and the DPP gets longer.

25
D
The project is normal ie, outflow and inflows which exceed the outflow, therefore it will have a single IRR (statement 1 is true) and if the IRR is less than the cost of capital the NPV will be negative (think about the normal NPV graph) so statement 2 is false.

26
C
The graph would be hump-shaped with a positive NPV between 10% and 25% and negative NPVs at less than 10% or more than 25%.

27
C
As cash flows arise at the end of the year an increase in Year 3's cash flow would not change the 3 year payback period. Higher cash flows require a greater discount rate to get a 0 NPV for the IRR.

28
D
NPV = (500,000 ( 0.909) + 200,000 ( 0.826 + 300,000 ( 0.751 = £(64,000)

If you got (70,000) you started the flows at t0 not t1. If you got positive NPVs you had your cash flow signs reversed.

29
D
1 January 20X4 is the same point in time as 31 December 20X3.

75,000 ( 1.08 = 81,000 at 31 December 20X1

85,000 ( 1.08 = 91,800 at 31 December 20X2 

95,800 ( 1.08 = 103,464 at 31 December 20X3 plus 4,000 on that date = £107,464.
30
D
(1), (2), (3) and (4)
There are ethical reasons why environmental costs are important but there are also many financial benefits that can be gained by identifying environmental costs.

Scenario-based answers


1
Shah Ltd

Calculate the profit or loss for June using both absorption costing and marginal costing.

	
	Absorption
	Marginal
	Marks
	Workings

	
	£
	£
	£
	£
	
	

	Sales
	
	214,200
	
	214,200
	1, 0.5 
	595 ( 360

	
	
	
	
	
	
	

	Variable production costs
	63,000
	
	63,000
	
	0.5, 0.5 allow
–ves
	600 ( (50 + 40
 + 15)

	
	
	
	
	
	
	

	Fixed production costs absorbed
	6,000
	
	0
	
	1.5 allow –ve, 0.5 for 0 or dash
	600 ( 10

	
	
	
	
	
	
	

	Opening inventory
	1,725
	
	1,575
	
	0.5, 0.5 allow 
–ves
	15 ( (50 + 40 + 
15 + 10) and 15 
( (50 + 40 + 15)

	
	
	
	
	
	
	

	Closing inventory
	(2,300)
	
	(2,100)
	
	1, 1

allow +ves
	20 ( (50 + 40 + 
15 + 10) and 20 
( (50 + 40 + 15)

	
	
	
	
	
	
	

	Production cost of sales
	
	(68,425)
	
	(62,475)
	0.5, 0.5
	Opg + prodn 
– clsg

	
	
	
	
	
	
	

	Under-/over- absorption
	
	(600)
	
	0
	2 for – 600, 1 for 600,

1 for 0 or blank
	6,600 – (600 ( 10) 



	
	
	
	
	
	
	

	Variable selling, administration and distribution
	
	(1,309)
	
	(1,309)
	1 and 0.5 for 
–ves,  0.5 and 0.5 for +ves
	2 ( 1.10 ( 595

	
	
	
	
	
	
	

	Fixed selling, administration and distribution
	
	(3,200)
	
	(3,200)
	1.5 and 0.5 for 
–ves 1 and 0.5 for +ves
	38,400 / 12 

	
	
	
	
	
	
	

	Fixed production costs
	
	0
	
	(6,600)
	0.5 for 0 or blank, 1 for –ve or 0.5 for +ve
	

	
	
	
	
	
	
	

	Profit/loss
	
	140,666
	
	140,616
	
	


At the end of the first month of production of the Choco Special there is a closing inventory. Will the profits for the Choco Special calculated under marginal costing be higher than, lower than or the same as those calculated under absorption costing?
Use the drop down to select from:

	Higher
	
	Inventory has increased so absorption costing profit will be higher and

marginal costing profit will be lower.

	Lower
	
	

	Same
	1 mark for Lower
	

	
	
	


Calculate the % margin for the Choco Special using the planned selling price.

	20%
	2.5 marks
	Price is 460 ( 1.25 = 575

	
	
	Profit is (575 – 460) = 115

	
	
	Margin = 115/575 = 20%



2
Otter Ltd

Calculate the total value of the closing inventory for each product line under marginal costing.

	
	£
	
	Workings

	Shade
	6,000
	
	1,000 ( (3 + 2 + 1)

	
	
	
	

	Cool
	6,500
	
	500 ( (6 + 5 + 2)

	
	
	
	

	Supercool
	3,400
	
	200 ( (8 + 7 + 2)

	
	
	
	

	
	1 mark each item, maximum 3 marks
	
	


Calculate the fixed overhead absorption rate per labour hour for May.

	
	£ per labour hour
	
	Workings

	Fixed overhead
	9
	
	103,500 / (15,000 ( 2/10 + 10,000 (

	absorption rate
	3 marks
	
	5/10 + 5,000 ( 7/10)


Calculate the total value of the closing inventory for June for each product line under marginal costing.

	
	£
	
	Workings

	Shade
	17,280
	
	21,120 – (2/10 ( 8) ( 2,400

	
	
	
	

	Cool
	13,500
	
	17,500 – (5/10 ( 8) ( 1,000

	
	
	
	

	Supercool 
	8,850
	
	11,650 – (7/10 ( 8) ( 500

	
	0.5 mark each item, maximum 1.5 marks
	
	


Assuming the same fixed production overheads in September as for May, complete the table below which calculates Otter's gross profit for September under marginal costing and absorption costing.

	
	Marginal costing

£
	
Workings
	Absorption costing

£
	Do not score items marked *
	
Workings

	Sales revenue
	
	
	
	
	

	Shade
	195,000
	(13,000) ( 15
	195,000*
	1 mark
	

	
	
	
	
	
	

	Cool
	234,000
	(9,000) ( 26
	234,000*
	1 mark
	

	
	
	
	
	
	

	Supercool
	180,000
	(4,500) ( 40
	180,000*
	1 mark
	

	
	
	
	
	
	

	Total sales revenue
	609,000
	
	609,000
	
	

	
	
	
	
	
	

	Total marginal cost of sales
	(271,500)
	13,000 ( 6 + 9,000 ( 13 + 4,500 ( 17
	
	2 marks
	

	
	
	
	
	
	

	
	Marginal costing

£
	
Workings
	Absorption costing

£
	Do not score items marked *
	
Workings

	Total absorption cost of sales
	
	
	(363,750)
	2 marks
	13,000 ( 
(6 + 9 ( 2/10) + 9,000 ( (13 + 9 ( 5/10) + 4,500 ( (17 + 9 ( 7/10)

	Fixed production overheads
	(103,500)
	
	
	
	

	
	
	
	
	
	

	Gross profit
	234,000
	Calculated from above
	245,250
	1.5 mark each, max 3 marks
	


The gross profit in October was:

B
higher under absorption costing
2.5 marks

3
Mango Ltd
	Difference £
	800
	2 marks
	(300 – 260) ( 20


Operating statement for May

	
	Favourable

£
	
	Adverse

£
	
	
£
	Marks
	Workings

	Budgeted profit
	
	
	
	
	60,000
	2
	300 (500 – 300)

	
	
	
	
	
	
	
	

	Sales volume variance
	13,200
	
	0 or –
	
	
	1.5
	(300 ( 1.2 – 300) 
(500 – 280)

	
	
	
	
	
	
	
	

	Sales price variance
	0 or –
	
	18,000
	
	
	1.5
	(500 – 500 ( 0.9) 300 ( 1.2

	Cost variances
	
	
	
	
	
	
	

	Materials price 
	900
	
	0 or –
	
	
	1.5
	(2,700 fav – 1,800 fav usage = 900 fav) (see below)

	
	
	
	
	
	
	
	

	Materials usage 
	1,800
	
	0 or –
	
	
	1.5
	(300 ( 1.2 ( 6 – 1,800) ( 5

	
	
	
	
	
	
	
	

	Labour rate 
	0 or –
	
	7,020
	
	
	1.5
	(5,220 adv + 1,800 fav effic = 7,020 adv)

	
	
	
	
	
	
	
	

	Labour efficiency 
	1,800
	
	0 or –
	
	
	1.5
	(300 ( 1.2 ( 10 – 3,510) 
( 20

	
	
	
	
	
	
	
	

	Variable overhead rate 
	0
	
	0 or –
	
	
	1.5
	(17,550 / 3,510 – 5) 3,510

	
	
	
	
	
	
	
	

	Variable overhead efficiency
	450
	
	0 or –
	
	
	1.5
	(300 ( 1.2 ( 10 – 3,510) 5

	
	
	
	
	
	
	
	

	
	Favourable

£
	
	Adverse

£
	
	
£
	Marks
	Workings

	Fixed overhead expenditure
	100
	
	0 or –
	
	
	2
	5,900 – 300 ( 20

	
	
	
	
	
	
	
	

	Total variances
	18,250
	
	25,020
	
	(6,770)
	
	

	
	
	
	
	
	
	
	

	Actual profit
	
	
	
	
	53,230
	2
	300 ( 1.2 ( 300 ( 0.9
 – 8,100 – 77,220 – 17,550
 – 5,900


Extra workings to aid learning:

The information in the question allows us to calculate the materials usage variance:

	360 units should have used (SYMBOL 180 \f "Symbol" 6 kg)
	 2,160 kg

	 
but did use
	   1,800 kg

	 Usage variance in kg
	 360 kg (F)

	 SYMBOL 180 \f "Symbol" Standard price per kilogram
	      ( £5

	 Usage variance in £
	 £1,800 (F)


We are given the total variance in the question and now we know the usage variance. We can calculate the price variance because usage + price = total variance.

£2,700 (F) – £1,800 (F) = £900 (F)

We could now work out the actual cost of the materials if we wanted to (although strictly speaking it is not needed in this question).

	
	£

	1,800 kg should have cost (SYMBOL 180 \f "Symbol" £5)
	 9,000

	
but did cost
	          X

	Material price variance
	    900 (F)


The actual cost must have been £9,000 – £900 = £8,100. (Note we have used this figure in our workings above as a check that the actual profit calculated from the variances is correct.)

The labour variances can be calculated in the same way.



4
Frost plc

Calculate the budgeted prime cost per Support chair for 20X1.

	£15 or £16
	2 marks
	1.5 ( 9 + 1 ( 2


Calculate the actual absorption cost per unit of output for Comfort chairs in 20X1.

	£30 or £31
	3 marks
	9 ( 1.5 + 4 ( 2 + 2 ( 1.5 + ((285,000 

	
	
	– 285,000 ( 2/3)/2/11,875) ( 1.5


Calculate the selling price per Superior chair in 20X1.

	£60
	2 marks
	50 ( 1.20


Calculate the fixed overhead absorption rate per labour hour for Superior chairs in 20X2.

	£15 (or £16)
	3 marks
	0.95 ( (190,000) / (10,500 ( 1.1)


Calculate the budgeted absorption cost per Comfort chair for 20X3.

	£52 (or £51)
	3 marks
	1.5 ( 9 ( 1.1 + 2 ( 4 ( 1.05 + 2 ( 1.5 

	
	
	( 1.05 + 25


Using the 20X3 data for Support chairs and the target margin, calculate the selling price for 20X4.

	£62 (or £63)
	2 marks
	50/0.8


Calculate the decrease in the selling price of a Comfort chair that results from switching from a fixed overhead rate absorption rate based on the specific chair's labour hours to a single blanket fixed overhead absorption rate based on all three chair types.

	£4
	3 marks
	((400,000 ( 0.30)/4,000 + 50)/0.8 = 100

	
	
	(400,000/(3 ( 4,000) + 50)/0.8 = 104

Difference = 4


Calculate the total under or over absorption of fixed overheads for all three chair types using the company wide blanket absorption rate in 20X4.

	£40,000
	under absorption
	2 marks:
	

	
	
	1 for 40,000 

1 for under absorption
	
400,000 – (3 ( 4,000) ( 30 = 40,000



5
Rollbeam Ltd

Calculate the number of desserts (to the nearest whole dessert) that would need to be sold to earn a profit of £11,000 per week. 

	6,385
	desserts
	3 marks


Number of desserts sold per week = £33,000/£6 = 5,500


Variable cost per dessert
= (£6,050 + £11,550 + £1,100)/5,500



= £3.40

Contribution per dessert
= £6.00 – £3.40 = £2.60

Number of dessert sales to reach target profit = Fixed costs + target profit/Contribution per unit


= (£2,000 + £3,600 + £11,000)/£2.60


= 6,385 (to the nearest whole dessert)

Calculate the margin of safety percentage per week for July (to the nearest whole number).

	62
	%
	2 marks


Breakeven sales revenue = (£5,700/£2.40) ( £6 = £14,250

Expected sales revenue = £33,000 ( 1.15 = £37,950
Margin of safety (%) = (Budgeted sales – Breakeven sales)/Budgeted sales ( 100%

= (£37,950 – £14,250)/£37,950 ( 100%

= 62%

Calculate the additional profit or loss that Rollbeam would earn per week from introducing the smaller portions.
	£820
	additional profit
	2 marks


Profit = Contribution less incremental fixed costs
         
= [1,200 ( (£3.00 – £1.40)] – £1,100 = £820
Calculate the optimum number of desserts and mini-pots that Rollbeam should produce in order to maximise contribution per week in November.

	4,900
	units of desserts
	1 mark

	900
	units of mini-pots
	1 mark


	
	Desserts
	Mini-pots

	Contribution per unit
	£2.30
	£1.10

	Vanilla extract per unit (ml)
	40
	22

	Contribution per limiting factor
	0.06
	0.05

	Ranking
	1
	2


Desserts: 4,900 units ( 40 ml = 196,000 ml

Leaving 215,800 ml – 196,000 ml = 19,800 ml available for mini-pots.

19,800 ml/22 ml = 900 units of mini-pots.
Calculate the payback period (to the nearest whole year) for the blancher.

	2
	years
	2 marks


Annual depreciation = (£650,000 – £100,000)/4 = £137,500

	Year
	Cash flow
	Cumulative cash flow

	0
	(650,000)
	(650,000)

	1
	237,500 + 137,500 = 375,000
	(275,000)

	2
	137,500 + 137,500 = 275,000
	0


The payback period is 2 years.
Calculate the discounted payback for the compactor (to the nearest whole year) using a 10% cost of capital.
	3
	years
	3 marks


	Year
	£      
	
	£      
	

	0
	(95,000)
	1
	(95,000)
	(95,000)

	1
	32,000 
	0.909
	29,088
	(65,912)

	2
	41,000 
	0.826
	33,866
	(32,046)

	3
	38,000 
	0.751
	28,538
	(3,508)

	4
	15,000
	0.683
	10,245
	6,737


Calculate the net present value for the belt conveyor (to the nearest £100) using a 10% cost of capital.

	£43,000
	2 marks


	Year
	
	DF @ 10%
	Cash flow

	0
	(140,000)
	 1
	 (140,000)

	1–5
	45,000
	3.791
	170,595

	5
	20,000
	0.621
	   12,420

	
	
	
	43,015


Calculate the accounting rate of return for the mixer (to the nearest whole percent) using the average investment.

	20
	%
	2 marks


Average investment = (initial investment + scrap)/2 = (£190,000 + £25,000)/2 = £107,500

ARR = Average annual accounting profit/Average investment ( 100%

Average annual accounting profit = [(£54,000 ( 5) – £165,000]/5 = £21,000

ARR = £21,000/£107,500 ( 100% = 20%

Calculate the internal rate of return for the processor tank (to the nearest whole percent) using costs of capital of 5% and 10%.

	9
	%
	2 marks


	Year
	Cash flow
	DF @ 5%
	PV
	DF @ 10%
	PV

	0
	 (250,000)
	 1
	 (250,000)
	 1
	 (250,000)

	1–7
	 50,000
	 5.786
	 289,300
	 4.868
	 243,400

	
	
	
	   39,300
	
	    (6,600)


If 
a = 5%


b = 10%


A = £39,300


B = –£6,600

Then:

IRR  
= a% + [A/(A – B)] ( (b – a)%


= 5% + 4.28%


= 9.28%


6
Birlea Ltd

Calculate the budgeted contribution for the 4,000 Seeds for December. 

	
	£
	

	Contribution
	9,600
	3 marks


Sales revenue 
= (4,000 ( £15) = £60,000

Materials cost 
= £0.30 ( 16 g ( 4,000 units = £19,200

Labour cost 
= Basic labour cost + overtime premium 


= [£24 ( 0.25 hours ( 4,000 units] + [£24 ( 0.5 ( 0.25 hours ( 20% ( 4,000 units]  


= £24,000 + £2,400 = £26,400

Variable overhead = £4,800

Budgeted total variable cost = £19,200 + £26,400 + £4,800 = £50,400

Contribution = £60,000 – £50,400 = £9,600

Calculate the budgeted closing inventory for December of the Ground and the Window.

	
	Ground
	Window
	

	Closing inventory (units)
	200
	1,300
	0.5 mark each


Closing inventory units = Production units – sales units + opening inventory units

Ground closing inventory = 2,700 – 3,000 + 500 = 200

Window closing inventory = 2,500 – 2,000 + 800 = 1,300

If the budgeted fixed overhead absorption rate for the Seed is £6 per labour hour, calculate the budgeted total fixed overheads for the Seed in December.

	£6,000
	0.5 mark


Number of units ( OAR per hour ( labour hours per unit = 4,000 units ( £6 ( 0.25 hours = £6,000

Using the high low method, calculate the total fixed overheads and variable overheads per unit for the Ground.

	Total fixed overheads
	£14,000
	1.5 marks

	
	
	

	Variable overheads per unit
	£2.50
	1.5 marks


The highest production level was in September. The lowest production level was in July.

Variable overhead per unit = (£22,000 – £21,000)/(3,200 – 2,800) = £2.50

Fixed overheads = £22,000 – (3,200 ( £2.50) = £14,000
Calculate the total budgeted overhead for the Window for December

	Total budgeted overhead
	£15,750
	0.5 marks


Variable overhead (2,500 units ( £1.50)  
  
£3,750

Fixed overhead                                              

 £12,000
Total budgeted overhead                                 
 £15,750
Prepare the following cash receipts budget extracts for the period March to May.

You should make an entry in every box in the cash budget. Enter a zero or dash where applicable. Do not leave any boxes blank. All figures should be entered to the nearest £.

	
	March
	April
	May
	

	
	£     
	£     
	£     
	

	Receipts from cash sales
	35,280
	38,220
	41,160
	0.5 marks each

	Receipts from credit sales
	79,800
	79,800
	85,050
	1.5 marks each 


WORKINGS (1)
	
	January
	February
	March
	April
	May

	
	£     
	£     
	£     
	£     
	£     

	Sales
	120,000
	120,000
	120,000
	130,000
	140,000

	Cash proportion (30%)
	36,000
	36,000
	36,000
	39,000
	42,000

	Credit proportion (70%)
	84,000
	84,000
	84,000
	91,000
	98,000

	
	
	
	
	
	

	Cash receipts:
	
	
	
	
	

	Cash less discount (( 0.98)
	35,280
	35,280
	35,280
	38,220
	41,160

	
	
	
	
	
	

	Credit receipts:
	
	
	
	
	

	75% after 1 month
	
	63,000
	63,000
	63,000
	68,250

	20% after 2 months
	
	
	16,800
	16,800
	16,800

	Total credit receipts
	
	
	79,800
	79,800
	85,050


Prepare the following cash payments budget extracts for the Seed for the period March to May.

You should make an entry in every box in the cash budget. Enter a zero or dash where applicable. Do not leave any boxes blank. All figures should be entered to the nearest £.

	
	March
	April
	May
	

	
	£     
	£     
	£     
	

	Payments for the Seed material  
   purchases
	19,152
	19,608
	19,608
	Allow –yes 1 mark each

	Payments for the Seed labour costs
	24,840
	25,440
	25,800
	Allow –yes 1 mark each


WORKINGS (2)
	
	January
	February
	March
	April
	May

	
	£     
	£     
	£     
	£     
	£     

	Production units of Seed
	4,100
	4,100
	4,200
	4,300
	4,300

	Payments for the Seed 
   materials purchases (( 95%) –   
   purchased 2 months before 
   sale and paid for 1 month 
   later (ie, month of production)
	
	
	19,152
	19,608
	19,608

	
	
	
	
	
	

	Production units of Seed
	4,100
	4,100
	4,200
	4,300
	4,300

	Labour amount due (( £24 ( 
   0.25 hours)
	24,600
	24,600
	25,200
	25,800
	25,800

	40% paid in production month 
	
	
	10,080
	10,320
	10,320

	60% paid 1 month after 
   production month
	
	
	14,760
	15,120
	15,480

	Payments for Seed labour cost
	
	
	24,840
	25,440
	25,800
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